ARLINGTON COUNTY, VIRGINIA OFFICE OF THE PURCHASING AGENT 2100 CLARENDON BOULEVARD, SUITE 500 ARLINGTON, VIRGINIA 22201

NOTICE OF CONTRACT AMENDMENT

TO: McDonnell Landscape, Inc. DATE ISSUED:

20315 Georgia Avenue CONTRACT NO: 21-DPR-ITBLW-623b

Brookeville, MD 20833 CONTRACT TITLE: NE NW Grass Mowing and Turf

Maintenance Services

June 24, 2021

AMENDMENT NO: 1

THIS IS A NOTICE OF A CONTRACT AMENDMENT AND NOT AN ORDER. NO WORK IS AUTHORIZED UNTIL THE VENDOR RECEIVES A VALID COUNTY PURCHASE ORDER ENCUMBERING CONTRACT FUNDS.

The contract documents consist of the terms and conditions of AGREEMENT No. 21-DPR-ITBLW-623b including any attachments or amendments thereto.

EFFECTIVE DATE: July 26, 2021

EXPIRES: June 30, 2022

RENEWALS: Four (4) Renewals Remaining COMMODITY CODE(S): 98836, 98875

LIVING WAGE: Y

ATTACHMENTS:

AMENDMENT No. 1

EMPLOYEES NOT TO BENEFIT:

NO COUNTY EMPLOYEE SHALL RECEIVE ANY SHARE OR BENEFIT OF THIS CONTRACT NOT AVAILABLE TO THE GENERAL PUBLIC.

VENDOR CONTACT: Jorge A. Lopez VENDOR TEL. NO.: (301) 924-2600 xt. 203

EMAIL ADDRESS: jorge@mcdonnelllandscape.com

<u>COUNTY CONTACT:</u> Ken Lett, DPR-PNR <u>COUNTY TEL. NO.:</u> (703) 228-7981

<u>COUNTY CONTACT EMAIL</u>: <u>klett@arlingtonva.us</u>

PURCHASING DIVISION AUTHORIZATION

_Tomeka D. Price_____ Title Procurement Officer___ Date _ 8/2/2021

ARLINGTON COUNTY, VIRGINIA AGREEMENT NO. 21-DPR-ITBLW-623b AMENDMENT NUMBER 1

This Amendment Number 1 is made on July 26, 2021, and amends Agreement Number 21-DPR-ITBLW-623b ("Main Agreement") dated June 24, 2021, between McDonnell Landscape, Inc. ("Contractor") and the County Board of Arlington County, Virginia ("County").

The County and the Contractor agree to amend the contract called for under the Main Agreement by hereby adding additional locations for grass mowing and turf maintenance services as listed below.

A. ADD the following location:

Northeast:

- 1. Donaldson Run Lift Stations 2929 Military Rd.
- 2. Dover Run Lift Stations 2801 N Quebec St.
- 3. Gulf Run Lift Station 3611 Military Rd.
- 4. Kirkwood Rd Lift Station 1616 Kirkwood Rd.
- 5. Windy Run Lift Station 2500 N Kenmore
- 6. Riverwood Lift Station 2770 N Nelson St.
- 7. Marcey Creek Lift Station 2685 N Marcey Rd.
- 8. River Estates Lift Stations 3533 36th Rd. N
- 9. River Crest Lift Stations 3560 36th Rd. N
- 10. Palasades Lift Station 2141 N Scott St.

Northwest:

1. Upper Pimmit – 3912 N Dumbarton St.

Replace Exhibit C - Locations in its entirety with the attached **Revised Exhibit C - Locations**.

Replace the Exhibit F – Pricing Sheet in its entirety with the attached **Revised Exhibit F – Pricing Sheet**. The Grand Total of Quadrants NE and NW are hereby changed from \$667,347.40 to \$696,867.40, an increase of \$29,520.00.

All other terms and conditions of the Main Agreement remain in effect.

WITNESS these signatures:

THE COUNTY BOARD OF ARLINGTON

COUNTY, VIRGINIA

AUTHORIZED Joneka D. Price SIGNATURE:

NAME: TOMEKA D. PRICE

TITLE: PROCUREMENT OFFICER

DATE: 8/2/2021

AUTHORIZED

SIGNATURE:

NAME: Jorge Lopez

TITLE: Vice President

DATE: <u>8/2/2021</u>

ADT, LLC

REVISED EXHIBIT C - LOCATIONS (NORTHWEST MOWING LOCATIONS)

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
1	Jamestown Elementary School - 37Th & Delaware St	All Areas Except Inside Building Sidewalks And Parking Lots		3.313	S	7-14	2107
2	Jamestown Park - 3618 N. Dickerson St.			0.3	Р	7-14	2107
3	Dumbarton St. Next To 3905 (Upper Pimmit Run)	Open Lot East Side Of Street - Upper Pimmit Run	150' X 375'	1.3	Р	30	2110
4	Dumbarton St. West Side (Upper Pimmitt Run)	Open Lot Between 3900 & 3916 (address for lot is 3912)	80' X 400'	0.73	Р	30	2110
5	36Th & N. Glebe Rd - Street Island	·		0.02	U	7-14	2112
6	Edison St & 37Th St - At Dead End Of N. 37Th St		62' X 62'	0.09	U	7-14	2114
7	Glebe Rd. & Little Falls Rd.	Traffic Island & N. Utility Strip		0.01	U	30	2106
8	36Th & Potomac St 6200 Block Of 36Th St	, ·	76'X 40'	0.07	U	7-14	3012
9	35Th St & Pocomoke - 3500 Block Of Potomac St		123' X 43'	0.12	U	7-14	3012
10	Minor Hill & Sharp Park-Wlmsburg & Powhattan	All Areas Around Tanks & Gardens		1.03	Р	7-14	3016
11	Williamsburg Blvd - Little Falls Rd To Glebe	All Islands Including Large Islands At Little Falls		1.65	U	7-14	3016
12	Little Falls Road	Street Median From Williamsburg Blvd. To Nottingham St.	12' X 770'	0.21	U	7-14	3016
13	36Th St - Kensingston St To School Field	North Row Area Adjacent To Street	12' X 250'	0.07	U	30	3101
14	Williamsburg School Trail - Field To Harrison St		50' X 300'	0.3	Р	30	3101
15	Williamsburg School - 36Th & N. Harrison St	All Areas Except Inside Building Sidewalks And Parking Lots		15.99	S	7-14	3102
16	George Mason Dr - Old Dominion To Little Falls		1,560' X 24'	0.9	U	7-14	3103
17	Frederick St. Alley - Behind 3601 Harrison St.	Utility Easement Next To 5155 Williamsburg Blvd.	100' X 120'	0.23	U	30	3106
18	Old Dominion Access Road - 29Th To Rock Spring Rd		10' X 1359'	0.32	U	30	3108
19	John Marshall Dr - Little Falls To Williamsburg	Island & West Row easement	76' X 324'	0.57	U	7-14	3109
20	Harrison St - Little Falls Rd To Yorktown Blvd	East Row easement	10' X 300'	0.07	U	30	3110
21	Yorktown Blvd - Lexington To Edison	Islands	1,700' X 4'	0.25	U	7-14	3111
22	Rock Springs Park - 5000 Little Falls Rd.	Park Goes To Yorktown Blvd @ G.M. Drive All Areas		2	р	7-14	3112
23	George Mason Dr - Yorktown Blvd To Route 50	All Islands & Lg. Open Areas At Lee Highway		5.4	U	7-14	3112
24	Nottingham School - Ohio St & Little Falls Rd	All Areas Except Inside Building Sidewalks And Parking Lots		1.806	S	7-14	3113
25	Chestnut Hills Park - 2723 N. Harrison St	Backs Up To Greenbriar Stadium To Include Garden Plots		2.78	Р	7-14	3114
26	Greenbrier Park /Yorktown School-2800 Greenbrier St	All Slopes, Adj. U-Strips, Parking Lots, And Fence Lines		11.35	Р	7-14	3115
27	Yorktown Blvd - Under Old Dominion Overpass	Islands And Easements West Side Of Bridge	663' X 4'	0.06	U	7-14	3209
28	Birch Cemetery - N.28Th St. & Sycamore St.	All Areas	130' X 105'	0.31	Р	7-14	4004
29	Andrew Ellicot Park - Arizona St, Western Corner	S. Of Williamsburg Blvd Park And Adj. Rows	143 X 109'	0.36	Р	7-14	4009
30	Westmoreland St. At N.29Th St.	Sidewalk R-O-W West Side Of Street	6' X 150'	0.02	U	30	4010
31	Tuckahoe School - 6550 N. 26Th St, @ Sycamore St	All Areas Except Inside Building Sidewalks And Parking Lots		7.25	S	7-14	4011
32	Little Falls Rd - 6714 To Underwood St	On Side Of House At 2720 North Row easement	12' X 24'	0.01	U	30	4011
33	Sycamore St - 26Th St To Williamsburg Blvd.	All Islands And Utility Strips & N. Bank @ I-66 Exit Ramp		1.61	U	7-14	4012
34	Fairfax Drive -From Westmoreland To Little Falls	Islands, Utility Strip & Row @ Winchester St.		0.23	U	7-14	4014
35	Westmoreland St - Fairfax Dr To Williamsburg Blvd	Row Areas Both Side And Adj. To I-66 Bridge	6'X 800'	0.11	U	30	4014
36	28Th St. & Westmoreland St.	Sw Corner Lot To Base Of Hill To I-66 Bridge	250' X 210' /2	0.6	U	30	4010
37	Charles A. Stewart Park - Underwood St & 24Th	All Areas Fences, Rear Areas, Curbs, Playground,	500 X 250'	2.85	Р	7-14	4015
38	Tuckahoe Park - 2400 N.Sycamore St.	All Areas From Lee Highway To 26Th St, Woods, U-Strips		5.2	Р	7-14	4016
39	26Th St. & Lexington St.	N.E. Corner Roadside Between Curb & Property Fence	6'X 100'	0.01	U	30	4102
40	28Th St. R-O-W	Footpath Between Johnmarshall Dr. & Lexington St.	12' X 120'	0.03	U	30	4102
41	Ohio St & 26Th - Next To 2507 Ohio St		119' X 72'	0.2	Р	7-14	4105
42	Lee Center - Lee Highway & Lexington St	All Areas Including Outside Fence Lines And Adj. To Streets		1.149	Р	7-14	4106
44	John Marshall Greenway - 2200 N. John Marshall Dr.	N 20Th To Lee Hwy And Field At Lee Hwy		2.5	U	7-14	4110

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
45	Ohio St @ N. 20Th St.	Roadside Adjacent To House #6101 20Th St.	6' X 90'	0.02	U	7-14	5101
46	Patrick Henry Dr - 20Th St. George Mason Dr.	,		0.49	U	7-14	4112
47	22Nd & N. Potomac St Street Island			0.15	U	7-14	4113
48	Parkhurst Park - 5820 N. 20Th St.	Park Loops Behind 20Th & 21St Houses All Areas		5	Р	7-14	4115
49	22Nd St. From Lexington To Kentucky St.	North Side Utility Strip Adjacent To 2115 Lexington St.	6' X 100' & 18' X 230	0.1	U	30	4115
50	Dinwiddie St @ 2329 - Dead End	East Row easement	6' X 50'	0.01	U	30	4201
	23Rd Rd - Dickerson St To Deadend	South Row easement	21' X 130'	0.06	U	30	4201
52	Langston Center - 4854 Lee Highway	All Areas Fences, Rear Areas, Curbs, Playground,		1.2	Р	7-14	4205
	Fire Station #8 - 4845 Lee Highway	All Areas includes Utility Strips		0.21	F	7-14	4205
54	Cameron St & Lee Highway - Large Islands	Totem Pole Areas And Adj. U-Strips	141' X 92'	0.3	Р	7-14	4205
55	23Rd Rd - 5100 To 5123 24Th St	Alley Behind Shopping Center	6' X 625'	0.09	U	30	4205
	Brandywine St. Alley	Behind Houses From Deadend To 21St St.	15' X 770'	0.27	U	30	4206
	Big Walnut Park - 1901 N. Harrison St			1.62	Р	7-14	4209
	Highview Park - 1900 N. Cameron St	All Areas And All Perimeters		2	Р	7-14	4209
59	Slater Tract Park - N. 19Th & N. Culpeper St.	Both Sides And Wooded Areas In Middle		0.34	Р	7-14	4210
	19Th & Culpeper St - Next To 1827 Culpeper St		128' X 26'	0.07	U	7-14	4210
61	Cameron St - Between 1917 & 1927	East Row easement	6' X 50'	0.010	U	30	4210
62	Glebe School - 1700 N. Glebe Rd	All Areas Except Inside Building Sidewalks And Parking Lots		1.3	S	7-14	4211
64	19Th St. R-O-W - 5200 Block	Dead end R-O-W Off George Mason Dr. After House #5231	20' X 100'	0.05	U	30	4213
65	Dinwiddie St - 17Th St To Edison St.	South Side Utility Strip	320 X 6'	0.04	U	7-14	4214
66	17Th & Culpeper St - Next To 1717 Culpepper	Also Along Fence On Sw Corner 60' X 6'	50' X 20'	0.03	U	7-14	4214
67	Little Falls Road @ Winchester St	East Row Adj. To Bike Trail On Little Falls	56' X 14'	0.02	U	30	5002
68	Fairfax Drive - Lee Hwy To Vanderpool To 19Th Rd	Row easements Both Sides		0.1	U	30	5003
69	Isaac Crossman Park-Westmoreland St 19Th To Van Buren	East Side Row All Along Woods	8' x 1500'	0.27	U	30	5007
70	Benjamin Bannaker Park - 6620 N. 18Th St.	All Areas - Fences, Wooded Areas, Stream Edges		12.94	Р	7-14	5008
71	East Fallschurch Park - 1730 N. Roosevelt St.	All Areas - Fences, Wooded Areas, Stream Edges		1.867	Р	7-14	5008
72	Roosevelt St 1709 To Bike Trail Entrance	East Side Row All Along Woods	8' x 1500'	0.27	U	30	5007
77	21St & N. Potomac St Street Island			0.34	U	7-14	5101
78	Quantico St - 1918 To Washington Blvd.	Both Side Of Street	10' X 100'	0.01	U	30	5101
81	26Th St & Potomac St - 2500 Block		128' X 128'	0.38	U	7-14	4105
82	Potomac St @ Pomomoke St - Open Area	Also West Row Of Potomac St To Bike Trail	20' X 50'	0.02	U	30	5105
83	Quantico St @ N. 18Th Rd - Ne Corner	Vacant Lot Area	144' X 20'	0.06	U	30	5105
84	Ohio St. & N.18Th St Corner Location			0.05	U	7-14	5106
85	Ohio St. & 14Th St - I-66 Entrance To Bike Trail			0.5	Р	7-14	5106
86	Kenilworth St. N. & 15Th St - Island Areas			0.01	U	7-14	5108
87	Madison Manor Park - 1201 N. Quantico St	All Areas - Fences, Wooded Areas, Stream Edges		7.53	Р	7-14	5109
88	Four Mile Run Drive & Madison St	West To Cul De Sac		0.3	Р	7-14	5110
89	Madison St. @ Four Mile Run Dr.	Sidewalk Island & 2' Behind Sidewalk From 1023 To Corner	4' X 36'	0.01	U	30	5114
90	Ohio St @ Mckinley Rd - St Row By Bike Trail	To Include Utility Strip Adjacent To 6107 12Th Rd.		0.43	Р	7-14	5110
91	Dead-End Mckinley Rd. North Side Of I-66	4Ft. Behind Curb From Biketrail Entrance To House #1321	4' X 110'	0.01	U	30	5110
92	Livingston St @ 1222. Trail	To Swanson School & 15Th Street	10' X 300'	0.07	U	30	5111
93	Swanson Middle School - 5800 Wash. Blvd	Sports Field Area And Street Median @ Crosswalk	200' X 400'	1.85	Р	7-14	5111
94	Mckinley School - 1030 N. Mckinley Rd.	All Areas Except Inside Building Sidewalks And Parking Lots		5.55	S	7-14	5114

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
95	Mace Park - Patrick Henry Dr. To Liberty St.	Also Trail To Arlington Mill Drive And Along Creek		1.48	Р	7-14	5115
96	Kentucky St @ 966 - Vacant Lot	Area Between Houses And I-66 To Patrick Henry Drive		0.75	U	30	5115
97	9Th Rd Cul-De-Sac - Near Lexington St	U-Strip And Bank		0.05	U	7-14	5116
98	Westover Park - 1011 N. Kennebec St	All Areas Including Slope Areas and areas around fields		3.664	Р	7-14	5116
99	16Th St. Between Houses 5404 & 5506	Roadside Between Fence And Curbline	5' X 100'	0.01	U	30	5201
100	Woodlawn Park - Buchanan & 14Th St	All Areas From 13Th St To Back Of Hospice		1.687	Р	7-14	5203
101	Glebe Rd & North 13Th St	·	52 X 46'	0.05	U	7-14	5203
102	Lacey Woods Park - George Mason Dr @ Wash. Blvd	Open Areas, Woods Perimeters, Playground Area, U-Strips		1.714	Р	7-14	5206
103	Evergreen St. @ Washington Blvd. Row Areas	All Rows On The Evergreen G.M. Block 4 Sides	800' x 6'	0.11	U	30	5206
104	Washington Blvd & N. Glebe Rd	Island 50' West Of Glebe Rd		0.01	U	7-14	5207
105	Aberdeen St & Washington Blvd @ I-66	Mow Bank & Trim Bumper Rail		0.21	U	7-14	5207
106	Frederick St. 1100 Block	East Side Between 11Th St. And 11Th Rd.	6'x 425'	0.01	Р	30	5209
107	10Th St - At George Mason Dr. & I-66	Nw & Sw Corners		0.44	U	7-14	5210
108	9Th & Harrison St At I-66	4 Sides Of Bridge & Dead End Area		0.09	U	7-14	5213
109	Connector Trail - Lexington To Harrison St.	South Of I-66 Trail And Street U-Strips		1.45	Р	7-14	5213
110	Fairfax Drive - Harrison St To Kennebec St	South Row easement & Deadend E Of Harrison St	10' X 2500'	0.61	U	30	5213
111	N.W. Corner Harrison & Fairfax Dr.	Corner Lot Next To 5409	45' X 100'	0.1	U	30	5213
112	Jacksonville St - 9Th Rd To 9Th St	West Row Easement	185' X 10'	0.04	U	7-14	5213
113	Arlington Traditional School - 850 N. George Mason Dr.	All Areas Except Inside Building Sidewalks And Parking Lots		3.608	S	7-14	5214
114	Fields Park - George Mason & Wilson Blvd	Area Surrounding Field And Bike Trail To Fairfax Drive		5.65	Р	7-14	5215
115	8Th St & N. Buchanan St Off Wilson Blvd	0		0.01	U	7-14	5215
116	Fire Station #2 - 4815 Wilson Blvd.	All Areas		0.32	F	7-14	5215
117	Buchanan St - Fairfax Dr. To N. 8Th Rd.	East Row Easement	290' X 6'	0.04	U	30	5215
118	Wilson Blvd @ 4617 - Across From Abington St	Lot Behind Restaurant, Field & Perimeters	729'x45'	0.75	Р	30	5215
119	700 Block Of N. Abingdon St.	Hillside Area East Side Of St. From Wilson To House #733	25' X 170'	0.1	U	30	5215
120	Rt. 50 Service Road - Henderson To Park Drive	South Row Easement	481' x 6'	0.07	U	30	6215
121	Wakefield St - Wilson Blvd To Deadend	East Row Easement	6' X 400'	0.05	U	30	5216
122	Bon Air Park - Wilson Blvd To I-66	All Areas-Playfields, Picnic Gnds, Stream Edges, Parking Lots		7	Р	7-14	6104
123	Wilson Blvd - From Mckinley To Lexington	All Islands		7.77	U	7-14	6106
124	Patrick Henry Drive - Wilson Blvd To N. 10Th	Islands And Some U-Strips		0.1	U	7-14	6106
125	Madison St - Wilson Blvd. To 934 Madison St.	Also Corner Lot @ Wilson Blvd	7800' X 6'	0.25	U	30	6106
126	Powhatan Springs Park 6020 Wilson Blvd.	All Grass Areas & Sidewalk Utility Strips		1.36	Р	7-14	6107
127	Bluemont Park - Wilson Blvd To Route 50 Bridge	All Areas-Playfields, Picnic Ground, Stream Edges, Parking Lots		22.495	Р	7-14	6108
129	8Th Rd & Lexington St - Road In Bluemont	Entrance Gate To Soccer Field		0.06	Р	30	6108
130	8Th Rd - North Of Manchester St	North Row Easement To Dead End	227' X 12'	0.06	U	30	6108
131	Livingston St - Wilson Blvd To 5Th	West Utility Strip	5' X 300'	0.03	U	30	6111
132		8' Area Behind Sidewalk From Harrison St. To Drive Of 5411	8' X 165'	0.03	U	30	6201
133	Kensington St At N. 8Th Road	Dead End And Planter Area Along Wilson Blvd		0.06	U	30	6201
134	800 Block N. Greenbriar St.	Street Island Across From 851	15' X 60'	0.02	U	7-14	5214
135	7Th Street - Deadend Off Kensington St			0.02	U	30	6205
136	Carlin Springs Rd - Kensington To G.Mason Dr.	Street Islands		0.5	U	7-14	6207
137	Granada St - Street Island Near N. 4Th St.			0.06	U	7-14	6207
138	Barrett School - 4401 N. Henderson Rd	All Areas Except Inside Building Sidewalks And Parking Lots		4	S	7-14	6208

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
139	Lubber Run Rec. Center & Park - 300 Park Drive	Rt. 50 To George Mason Drive Including All Access Streets	Bag Comm Center	6.01	Р	7-14	6208
140	Bluemont Junction Trail - Wilson To Bluemont Park	All Open Areas, Street Crossings And Cul-De-Sac Access Areas		4.61	Р	7-14	6209
141	4Th St & Four Mile Run Dr	West Side Row Adj. To Woods To Dead End	6' X 400'	0.05	U	30	6209
142	Jefferson St. Nature Trail	6' Both Sides Of Trail To Carlin Springs Rd.	12' X 1336'	0.18	Р	30	6210
143	2Nd Rd & Columbus St	Islands		0.01	U	7-14	6212
144	Glebe Rd N. @ Carlyn Springs Rd - Island	1St Island South Of Carlyn Springs Rd	10' X 250'	0.06	U	7-14	5216
145	Carlin Springs Rd & Kensington St - Bike Trail	Along Bike Trail East Side Of Kensington		1.2	Р	7-14	6213
146	Kensington St Berms @ 340 Kensington Cul-De-Sac	Enter At Vepco Gate On Lower Kensington St All Areas Behind Berms		0.25	Р	30	6209
147	Granada St & Arlington Blvd - Corners			0.1	U	7-14	6214
148	1St Place - At Carlin Springs Rd.	Hillside Area		0.13	U	7-14	6214
149	Edison Park - 213 N. Edison St.			0.28	Р	7-14	6215
150	Edison & N. Arlington Blvd - Corners			0.18	U	7-14	6215
151	Park Drive & Arlington Blvd	Park & Islands At Shopping Center Entrance & 2 On Rt. 50		1.15	U	7-14	6216
152	Rte 50 & Glebe Rd - Islands And U-Strips	7 Areas - Ramps, Underpass U-Strips, Islands,		0.32	U	7-14	6310
153	5Th & Harrison St - Se And Ne Corners		6 'X 100'	0.01	U	30	6206
154	Rt. 50 & George Mason Drive - Islalnds & U-Strips	7 Areas - Glebe Rd To North Henderson St		0.57	U	7-14	6313
155	Kensington St - 4Th St-Carlin Springs Rd	West Row easement	586' X 6'	0.08	U	30	6209
156	Ashlawn School - 5950 N. 8Th Rd	All Areas Except Inside Building Sidewalks And Parking Lots		4	S	7-14	6108
157	Route 50 West Entryway - @ County Line	Near Nottingham St Intersection Mow Area Around Sign		0.18	U	7-14	7104
158	Madison St. Deadend At Rt. 50	Area Between Soundwall And Curb And Along Walk To Rt. 50		0.04	U	30	7104
159	Rt. 50 & Manchester St - Rt. 50 Center Island	West Of Intersection Very Small Island		0.01	U	7-14	7104
160	N. Patrick Henry Dr- Medians	Medians On Both Sides Of N. 11Th Street		0.03	U	30	5111
161	Williamsburg Blvd Medians	Medians Fron N. Tridad To N. Westmoreland St.		0.56	U	7-14	4003
162	N. George Mason Dr & N. 16Th Street	ROW On N. George Mason & Utility Strip On 16Th St.		0.11	U	7-14	5201
163	N. Patrick Henry Dr. Median Strip	Median Strip From N. 16Th St To N. Illinois St.		0.62	U	7-14	4115
164	N Aberdeen St. Row	R-O-W In Fron To 1122 N. Aberdeen St.		0.03	U	7-14	5207
165	25Th & N. Florida St.	Island At The Intersection Of 25Th & N. Florida St.		0.07	U	7-14	4104
166	Buckingham Plaza Mini-Park	Nw Corner Of N. George Mason Dr & Henderson St.		0.14	Р	7-14	6208
167	N. Wilson BlvdMedian Strip	Median From N. Edison To N. Fredrick St.		0.04	U	7-14	6202
168	N. Emerson St. Row	Row Adjacent To 1501 N. 25Th Street		0.21	Р	7-14	3116
169	N Harrison St. Community Garden	Community Garden Next To 2909 N. Harrison St.		0.26	Р	30	3114
170	N. Ohio St	Median Fron Washington Blvd. To N.18Th St.		0.2	U	7-14	5106
171	North Fairfax Drive Park	All Areas Except Inside Building Sidewalk.		0.53	Р	7-14	5007
172	N. 16Th & Patrick Henry Dr.	Row Next To 1543 N. Patrick Henry Dr.		0.02	U	30	5107
173	N. 5Th & Jefferson St.	Row Surroudning 502 N. Jefferson St.		0.04	U	7-14	6209
174	N. Abingdon St.	Row Next To 500 N. Abingdon StFrom Abingdon To Stream		0.2	Р	7-14	6203
200	Walter Reed School - 1644 N McKinley Rd	Grass areas along 18th st N and N Lexington St - Under Construction		0.004	Р	7-14	
201	Walter Reed School Grounds/Westover Library	Grassy areas along N McKinley Rd		0.5	S	7-14	
202	Arlington Traditional School - 850 N. George Mason Dr.	Athletic Field #1 - Diamond - Cool Season Grass - No Irrigation		0.4464	Р	AF	
203	Arlington Traditional School - 850 N. George Mason Dr.	Athletic Field #2 - Diamond - Cool Season Grass - No Irrigation		0.4464	Р	AF	
204	Benamin Banneker Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation		1.2051	Р	AF	
205	Bluemont Junction Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation		1.2881	Р	AF	
206	Bluemont Park	Athletic Field #1 - Diamond - Cool Season Grass - No Irrigation		1.5389	Р	AF	

NORTHWEST MOWING LOCATIONS

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
207	Bluemont Park	Athletic Field #2 - Combo Diamond - Cool Season Grass - No Irrigatio	n	1.5389	Р	AF	
208	Bluemont Park	Athletic Field #3 - Combo Diamond - Cool Season Grass - Irrigation		0.8384	Р	AF	
209	Bluemont Park	Athletic Field Aux - Open Grass - Cool Season Grass - No Irrigation		1.5389	Р	AF	
210	Charles A. Stewart Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.8159	Р	AF	
211	East Falls church Park - 1730 N. Roosevelt St.	Athletic Field - Open Grass - Cool Season Grass - No Irrigation		0.6127	Р	AF	
212	Fields Park - George Mason & Wilson Blvd	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.9467	Р	AF	
213	Glebe School - 1700 N. Glebe Rd	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.6625	Р	AF	
214	Greenbrier Park /Yorktown School-2800 Greenbrier St	Athletic Field #1 - Diamond - Bermuda Grass - Irrigation		0.6432	Р	AF	
215	Greenbrier Park /Yorktown School-2800 Greenbrier St	Athletic Field #2 - Diamond - Bermuda Grass - Irrigation		0.7919	Р	AF	
216	Greenbrier Park /Yorktown School-2800 Greenbrier St	Athletic Field #3 - Diamond - Bermuda Grass - Irrigation		1.935	Р	AF	
217	Highview Park - 1900 N. Cameron St	Athletic Field - Diamond - Bermuda Grass - Irrigation		0.6317	Р	AF	
218	Jamestown Park Back-3618 N. Dickerson St.	Athletic Field - Combo Rectangle - Cool Season Grass - No Irrigation		1.6754	Р	AF	
219	Jamestown Elementary School Front - 37Th & Delaware St	Athletic Field - Combo Diamond - Cool Season Grass - No Irrigation		1.0424	Р	AF	
220	Lacey Woods Park - George Mason Dr @ Wash. Blvd	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.7863	Р	AF	
221	Lee Center - Lee Highway & Lexington St	Athletic Field - Diamond - Cool Season Grass - No Irrigation		0.291	Р	AF	
222	Madison Manor Park - 1201 N. Quantico St	Athletic Field - Combo - Bermuda Grass - Irrigation		1.7454	Р	AF	
223	Nottingham School - Ohio St & Little Falls Rd	Athletic Field #1 - Combo Diamond - Cool Season - No Irrigation		1.0322	Р	AF	
224	Nottingham School - Ohio St & Little Falls Rd	Athletic Field #2 - Combo Diamond - Cool Season - No Irrigation		1.0322	Р	AF	
225	Powhatan Springs Park 6020 Wilson Blvd.	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.9694	Р	AF	
226	Swanson Middle School - 5800 Wash. Blvd	Athletic Field - Rectangle - Bermuda Grass - Irrigation		1.6678	Р	AF	
227	Tuckahoe Park - 2400 N.Sycamore St.	Athletic Field #1 - Combo Diamond - Bermuda Grass - Irrigation		2.1202	Р	AF	
228	Walter Reed School - 1644 N McKinley Rd	Athletic Field - Diamond - Cool Season Grass - No Irrigation	Under Construction	0.8789	Р	AF	
229	Walter Reed School - 1644 N McKinley Rd	Athletic Field - Lower - Rectangle - Cool Season Grass - No Irrigation	Under Construction	0.5006	Р	AF	
230	Walter Reed School - 1644 N McKinley Rd	Athletic Field - Upper - Rectangle - Cool Season Grass - No Irrigation	Under Construction	0.8156	Р	AF	
231	Westover Park - 1011 N. Kennebec St	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.7375	Р	AF	
232	Westover Park - 1011 N. Kennebec St	Athletic Field #1 - Diamond - Cool Season Grass - Irrigation		0.6234	Р	AF	
233	Westover Park - 1011 N. Kennebec St	Athletic Field #2- Diamond - Cool Season Grass - Irrigation		0.2135	Р	AF	
234	Williamsburg School - 36Th & N. Harrison St	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation		1.589	Р	AF	
235	Woodlawn Park - Buchanan & 14Th St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.7828	Р	AF	
243	N Glebe	Medians From Randolph St.To Wilson Blvd.	638X4	0.06	U	7-14	5213
244	Upper Pimmit - 3912 N Dumbarton St	Lift Station			DES	14	

TYPES: U=Utility Strip; P=Parks; S=Schools; DES=Dept of Environmental Services; DHS=Dept of Human Services; L=Libraries

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
221	10Th & Barton St Garden Area	Between Gardens & Street And Adj. Areas		0.77	Р	7-14	5405
204	10Th St - Wilson Blvd To Rt. 50	Medians/Ultility Islands Wilson Blvd To Wash Blvd & East & West Ramp Of Rt. 50		1.67	U	7-14	5307
194	11Th & Danville St. Park	Open Lot Along 11Th St. From Danville To Fillmore St.	110' X 370'	0.93	Р	7-14	5304
187	13Th Street - Jackson To Harrtford St	Row Easements		0.31	U	7-14	5303
250	1617 N Garfield St	Utility Strips Around Perimeter Of House		0.01	U	7-14	4316
126	17Th St. & N. Hartford St	Island	41' X 26'	0.02	U	7-14	4315
113	18Th St. & Cleveland St.	Traffic Island	25' x 35' /2	0.01	U	7-14	4312
80	21St St. & N. Stafford St.	Sidewalk Island & Lot Behind Sidewalk On 21St @2045 Stafford St.		0.16	U	7-14	4208
55	24Th St @ Old Dominion Dr - 4655 To 4711	Row Easement From 4655 To 4711	220' X 70'	0.35	U	7-14	3214
25	33Rd St - Thomas St To Randolph St	N 4107 To N 4133 33Rd St	565' X 14'	0.18	U	7-14	2211
26	36Th & Glebe Rd	Island	29' X 23'	0.02	U	7-14	1112
23	36Th St - 3632 To 3837 At Military Rd	Open Areas	1,113'X 80'	2.04	U	7-14	2207
19	38Th St. & N. Wakefield St.	Utility Strip And Easement		0.14	U	7-14	2205
1	40Th & Upland St	Row Easement		0.07	U	7-14	1116
2	41St Street & Upland St.	Street Island		0.03	U	7-14	1116
44	4722 N 26Th Street	House Lot Property		0.66	P	7-14	3209
217	4Th St & Fillmore St 300 Blk Of Filmore	, rouse zot rope.cy		0.01	U	7-14	5316
214	6Th St & Monroe St	Street Island		0.03	U	7-14	5314
213	7Th. Street - Nelson St To Oakland St	Street island		0.15	U	7-14	5314
183	Aps Education Center-1426 N. Quincy St.	Outside Perimeter Of Parking Lot & 15 St. Utility Strip		0.95	S	7-14	5301
147	Argus House - 1527 Clarendon Blvd.	Small Picnic Area At Rear Of Building	20' X 40'	0.02	D	7-14	4407
123	Arlington Science Focus School - 1500 N. Lincoln St.	All Areas Except Inside Building Sidewalks, Parking Lots	20 % 10	1.50	S	7-14	4314
22	Broyhill Forest Park - 3510 N. Utah St.	North Of 35Th St On Utah Both Sides Of Street		2.50	P	7-14	2206
196	Central Library - 1015 N. Quincy St.	All Areas, Parking Lots, U-Strips, Adjnt To Tennis Courts		0.80	L	7-14	5305
105	Cherry Valley Park - 1700 Quincy St.	Access Also From Nelson & 17th (Area has expanded since Tax Map)		9.84	P	7-14	4309
81	Cherrydale Library - N. Military Rd @ 22Nd St	All Areas: Building Perimeter, Hillside,		0.42	L	7-14	4301
82	Cherrydale Park 2100 N. Quincy St.	Enter From Behind 7/11 West Of Pollard On Old Dominion		0.78	P	7-14	4301
143	Child Care Center -1915 N. Uhle St @ Lee Hwy	Building Perimeter, Parking Lot, Inside And Outside Fenced Areas		0.05	P	7-14	4405
130	Clarendon Blvd - Adam St To Danville St	Vacant Lot, U-Strips And Right Of Ways		0.40	U	7-14	4316
252	Clarendon Blvd & Veitch St	Median In Fron Of 2100 Clarendon Blvd.	BAG CUTTINGS	0.01	U	7-14	4413
193	Clarendon Blvd. @ Danville St.	Utility Strip & Area Surrounded By Brick Paver Walkway	27.10 00 1 111100	0.03	U	7-14	5304
203	Clarendon House - 3141 N. 10Th St.	All Areas And Adj. Street Islands		0.22	DES	7-14	5307
163	Clarendon Park - Wilson Blvd & Highland St	All Turf Areas	BAG CUTTINGS	0.46	P	7-14	5303
176	Clarenford Station Park - 1300 N. Vermont St.	From G. Mason Drive Behind Motel To Playground At Vermont St	27.10 00 1 111100	2.65	P	7-14	5204
208	Clay Park - 3011 N. 7Th St	All Areas		1.40	P	7-14	5312
169	Courthouse Building - 15Th St & Courthouse Rd	All Areas: Around Building, Utility Strips & Interior Courtyard		0.50	0	7-14	4414
129	Danville & Franklin St	Four Islands @ Intersection	100' X 47'	0.08	U	7-14	4316
161	Dark Star Park - Ft Myer Dr @ Fairfax Drive	Island Areas With Balls	BAG CUTTINGS	0.30	P	7-14	4412
67	Dawson Terrace Center - Taft St & 21St St	All Areas: Playground, Woods Edge, Fence Areas		2.08	P	7-14	3414
27	Donaldson Run Park - 4020 N. 30Th St.	Along 30Th From Military Rd To Pollard St	209' X 54'	0.26	P	7-14	2216
78		All Areas Except Inside Building Sidewalks And Parking Lots		1.20	S	7-14	4204
128	Edgewood St & N. Franklin St	Island		0.05	U	7-14	4316
191	Fairfax Drive - Danville To Barton St	Row Easements Both Sides		0.28	U	7-14	5304
178	Fairfax Drive - Wilson Blvd. To Glebe Rd.	All Islands		0.40	U	7-14	5212
157	Fairfax Drive House 1727 E. Of Pierce St	Mow Front And Rear Area And Perimeters		0.15	D	7-14	4411
225	Fillmore Park & Trail 33 N. Filmore St	Washington Blvd. North To Fillmore St.		2.00	P	7-14	6401
145	Fire Station #10 - 1559 Wilson Blvd	All Areas And Adj. Street Islands		0.14	F	7-14	4407
239	Fire Station #3-4100 Old Dominion Dr	All Areas, Parking Lots, U-Strips, Adjacent Park Area		0.12	F	7-14	4204

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
202	Fire Station #4 - 3121 N. 10Th St.	All Areas And Adj. Street Islands		0.10	F	7-14	5307
9	Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St	All Areas: Playground, Woods Edge, Fence Areas		3.12	Р	7-14	1214
66	Fort Smith Park - 2411 24Th St North	Street Row, House Grounds, Fort Area, Open Spaces		4.50	Р	7-14	3413
172	Ft Myer Heights Park - 1400 N Ft Myer Dr	South Of Rt. 50 Adj. To Apts.		0.66	Р	7-14	4415
140	Gateway Park - 1300 Lee Highway	All Grass Panels	BAG CUTTINGS	1.75	Р	7-14	4404
231	Glebe & Randolph Park		BAG CUTTINGS	1.05	р	7-14	6310
8	Glebe Park - Old Glebe Rd East Of Tazwell St	All Areas: Woods Edge & Steps, Fence Lines Playground		2.00	P	7-14	1214
180	Glebe Rd & Fairfax Drive	10 Street Islands		0.29	U	7-14	5212
15	Gulf Branch Nature Center -3608 N. Military Rd	Mow Along Entrance Drive, Around Base Of Building And Parking Lot		0.20	Р	7-14	2203
122	Hayes Park - 1400 Lincoln St At 15Th St	All Areas Including Row Easement Along 15Th St		2.86	Р	7-14	4314
125	Herndon St 1401	Utility Strip In Front Of House	5' X 50'	0.01	U	7-14	4315
205	Herselle Milliken Park 820 N. Lincoln St.	All Areas Between House And Store Building		0.41	Р	7-14	5310
158	Hillside Park - 1601 N. Pierce Street	All Areas Including Perimeters To All Streets		0.45	Р	7-14	4411
12	Holmberg Park - 38Th & N. Upland St.	All Areas		0.60	Р	7-14	2201
124	James Hunter Park (1230 N Hartford)	Grass areas and utility strips		0.10	Р	7-14	4315
244	Johnson St N-1504	Both Sides Of Sidewalk Adjacent To 1504	87X10	0.20	U	7-14	4314
199	Kenmore St - 1919 @ Wilson Blvd	Utility Strip Nw Corner & In Front Of 932		0.11	U	7-14	5306
150	Kent & 19Th Street	Triangle Island	BAG CUTTINGS	0.04	Р	7-14	4408
149	Kent St Vacant Lot - South Of 19Th St	Lot At Beginning Of Ramp Buildings On 3 Sides		0.11	Р	7-14	4408
127	Key Blvd & Highland St	7 Corner Areas		0.05	U	7-14	4315
137	Key Blvd. Garden Plots	Open Area On 19Th St. Side	40' X 50'	0.05	Р	7-14	4403
154	Key Boulevard - At N. Bryan St			0.02	U	7-14	4409
153	Key School - 2300 Key Blvd	All Areas Except Inside Building Sidewalks And Parking Lots		0.34	S	7-14	4409
186	Kirkwood Rd - Islands & Open Areas	Washington Blvd To Lee Hwy. All Public Open Spaces Both Sides		3.50	U	7-14	5302
46	Leaf Dump Lot 26Th St @ Yorktown Blvd	Open Area East Side Of Leaf Dump Site	180' X 180'	0.74	U	7-14	3209
98	Lee Highway - Lincoln St To Monroe	Islands In 3500 Block	31'X 45' & 251'X 4	0.45	U	7-14	4306
74	Lee Highway - Albemarle St To Wakefield St	6 Islands & Old Dominion Intersection Area		0.24	U	7-14	4202
138	Lee Highway - Nash St To Lynn St	Islands Adjacent To Gateway Park	BAG CUTTINGS	0.40	Р	7-14	4404
101	Lee Highway - Spout Run Pkway To Lincoln St	Islands	980' X 25'	0.56	U	7-14	4307
95	Lee Highway & N. Quincy St	3 Islands Mowing At Ls Areas		0.03	U	7-14	4305
226	Long Branch School - 33 N. Fillmore St	All Areas Except Inside Building Sidewalks And Parking Lots		1.04	S	7-14	6401
109	Lyon Village Park - 1800 Highland St	All Areas: Steps, Fence Lines, Playground, U-Strips		1.50	Р	7-14	4312
30	Marcey Rd Park 2700 Marcy Road	Located Inside Regional Park Area		1.50	Р	7-14	2313
206	Maury Art Center - 3550 N. Wilson Blvd	All Areas: Curbs, Sculpture Garden, Playground, Fence Edges		1.38	Р	7-14	5310
87	Maywood Mini Park - 3210 N 22Nd St	All Areas		0.25	Р	7-14	4302
132	Mccoy Park - N Vetch St & North 20Th St	All Areas Except The Drainage Basin		0.60	Р	7-14	4401
175	Meade St South @ S 14Th St	Island Adj. To Iwo Jima Memorial		0.06	U	7-14	4416
162	Meade St. Park - 1550 N. Meade St.	Sw Corner Island At Rt.50 To Service Rd.		0.40	Р	7-14	4412
60	Military Road & 25Th Rd N - 2 areas	Corners Of Intersection & Medians		0.04	U	7-14	3309
209	Mosaic Park - 544 N Pollard st	All areas including adjacent utility strips		0.50	Р	7-14	
245	N Oak St	Utility Strips Between Wilson & 16Th Rd. N		0.01	U	7-14	4411
230	N. 16Th Street & Custis Rd.	Median At The Intersection Of N. 16Th & Custis Rd.		0.05	U	7-14	4409
228	N. Barton & Bryan St.	Median At Intersection		0.03	U	7-14	5413
237	N. Barton St.	Utility Strip Between N. 11Th & 12Th St. (West Side Of St.)		0.02	U	7-14	5401
238	N. Jackson St. & Rt. 50	Area Surrounding Foot Bridge		0.05	Р	7-14	
232	N. Monroe St.	Utility Strips Both Sides Of Street Between I-66 & N. 17Th St.		0.02	U	7-14	4310
229	N. Randolph Street	Utility Strips Between N Glebe Rd And Wilson Blvd.		0.01	U	7-14	5313
240	N. Woodstock & 20Th Rd. N	Median At Intersection		0.02	U	7-14	4207

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
114	Nelly Custis Drive - Military Rd To Lorcum L.	All Islands	2000' X 6'	0.28	U	7-14	3314
115	Oakgrove Park - 1500 N. Quincy St	Area Surrounding Field, Fence Edges, Embankment, Perimeter Areas		3.86	Р	7-14	4313
207	Oakland Park 3701 Wilson Blvd.	All Areas		0.91	Р	7-14	5310
224	Oakland Street Mini Park 122 S Oakland St	South Of N 2Nd St And Oakland St Intersection	136'X 23'	0.07	Р	7-14	6306
41	Old Dominion & Glebe Rd	2 Islands & Adj. Utility Strips	500	0.01	U	7-14	3209
13	Old Glebe Rd @ Glebe Rd	Center Island With Stop Sign	10' X 33'	0.01	U	7-14	2201
242	Pershing Drive	Median From Rt. 50 To N. Barton St.		0.08	U	7-14	5409
235	Petco-N. Fairfax Dr.	Median At N. Farifax Dr. & Washington Blvd.		0.13	U	7-14	5303
141	Potomac Tower Park 1955 N. Lynn St	Adj. To Parkway Entrance Ramp	BAG CUTTINGS	0.25	Р	7-14	4404
197	Quincy Park - 1021 N. Quincy St	All areas Surrounding Fields, Playground, Tennis Courts, Picnic Area, U-Strips		3.81	Р	7-14	5305
94	Quincy Street - 20Th Rd To Lee Highway	All Islands And U-Strips	438' X 3'	0.15	U	7-14	4305
155	Rhodes & Clarendon Blvd.	Street Islands	160' X 74'	0.25	U	7-14	4410
61	Ridgeview Rd North Of Nellie Custis	Cul-De-Sac Island At Dead End	80' X 38'	0.07	U	7-14	3309
251	Roberts Lane & N Lincoln St	Utility Strip From Lincoln To Monroe St		0.02	U	7-14	2204
33	Rockspring Rd. @ Wakefield St.	Triangular Island At Intersection	50' X 50'	0.06	U	7-14	3201
218	Rocky Run Park 1200 Barton St	All Areas		2.80	Р	7-14	5401
234	Rt 50 East-Service Road	Utility Strip From N. Queen To Rolfe St.	31X2	0.01	U	7-14	4415
164	Rt. 50 East Entryway	Islands	16' X 200'	0.07	U	7-14	4412
100	Spout Run Pkway - Lee Highway To I-66 Overpass	Islands	300'X3'	0.02	U	7-14	4307
28	Stafford St - Dead End East Of 31 St	Island Area	160' X 27'	0.10	U	7-14	2216
76	Stratford Park - 4321 Old Dominion Dr.	All Areas		0.42	Р	7-14	4204
233	Sunburst Triangle	Parcel Of Land At Rt.50 & Fairfax Drive		0.45	U	7-14	5401
40	Taylor Elementary School - 2600 N. Stuart St	All Areas Except Inside Building Sidewalks And Parking Lots		3.82	S	7-14	3208
35	Taylor Park 5000 Military Rd @ 30th St	Area Along Military Rd.	683' X 90'	1.41	Р	7-14	3204
246	The Buck Property-N Quincy & 14Th St	All Areas & Ivy Perimeter Of All Buildings		2.43	DES	7-14	4313
86	Thrifton Hill Park - 23Rd & N. Edgewood St	All Areas: Rear Woods Edge & Steps, Fence Lines Playground		3.00	Р	7-14	4303
48	Utah St & Taylor St. Park	Fenced In Area And Adj. Areas	35' X 650'	0.52	Р	7-14	3211
192	Utility Strip In Front Of 1222 N. Cleveland St	Row Easement	10' X 25'	0.01	U	7-14	5304
116	Vacant Lot 1601 N. Quincy St	Open Lot Across Quincy St From Oakgrove Park	75'X 150'	0.25	Р	7-14	4313
241	Vacation Lane & 25Th St N.	Row At Corner Of Vacation & 25Th St. N.		0.03	U	7-14	3211
38	Vermont Bike Trail - At N. Vernon St	2547 N. Vernon St To 2501 N Upton St 60' X 15'		0.20	Р	7-14	3207
181	W & L High School - 1300 N. Quincy St	All Areas Except Inside Building Sidewalks And Parking Lots		5.76	S	7-14	5301
223	Washington Blvd - Highland St To Rt. 50	All Island And Utility Some Utility Strips		2.25	U	7-14	5308
198	Washington Blvd & N Quincy St	Islands		0.10	U	7-14	5305
151	Wilson Blvd - Lynn St To Ridge Road	Island	BAG CUTTINGS	0.10	Р	7-14	4408
179	Wilson Blvd & Fairfax Drive	Mowing At Ls Maintenance Areas		0.10	U	7-14	5212
247	Wilson Blvd- Ballston	3 Medians & Utility Strips From Glebe to just past Stuart St.		0.02	U	7-14	5212
146	Wilson Center - Wilson Blvd & N. Quinn St	All Areas: Sports Field, Playground, U-Strips, Fence Areas		2.05	Р	7-14	4407
62	Windy Run Park - Nellie Custis Drive	Mow To End Of Kenmore St	014'X 117'+2'X 46	2.74	Р	7-14	3314
63	Woodmont Center - N Of 24Th St On Filmore	All Areas: Surrounding Fields, Fence Areas, Playground, Driveways		0.22	S	7-14	3315
79	Woodstock Park - 2000 Block Of Woodstock	All Areas 20Th Rd & Woodstock St		1.00	Р	7-14	4207
42	Yorktown Blvd. @ Glebe Rd.	Street Median East Of Glebe Rd. Overpass	4' X 70'	0.01	U	7-14	3209
195	11Th St Roadside	Northside Of St. From Danville St. To Danville St.	10' X 75';	0.02	U	30	5304
188	13Th Street - Johnson To Jackson St	Both Sides Row Easements	12' X 200'	0.05	U	30	5303
167	14Th St. & Adams St. Lot	Se Corner Lot To Include Walkway On 14Th Street	115' X 250'	0.70	Р	30	4413
119	15Th St - Quincy St To Taylor St	South U-Strips All Areas Adj. To I-66	944'X 10'	0.21	U	30	4313
171	15Th St & Scott St	Corner Vacant Lot	40' X 36'	0.03	U	30	4414
121	15Th Street - Quincy St To Rear Home Lot	Cut Steep Bank	30' X 200'	0.13	U	30	4313
	•						

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
159	16Th St - 1701 To Quinn St	U Strip North Side	6' X 160'	0.02	U	30	4411
156	16Th St. & Quinn St.	Roadside From Rhodes St To & Down Quinn St To 1St Dr	12' X 90' & 6' X 175'	0.04	U	30	4410
110	1700 Blk. Adams St. Alley	Alley Behind Houses Between Key Blvd. & 18Th St.	15' X 320'	0.11	U	30	4312
111	1700 Blk. Barton St. Alley	Alley Behind Houses Between Key Blvd. & 18Th St.	15' X 320'	0.11	U	30	4312
117	17Th St. @ Pollard St.	Utility Strip From 3811 To Deadend Of 17Th St.	6'X 270'	0.04	U	30	4313
152	17Th Street Row @ Lynn St.	Hillside & Island Both Sides Of Overpass	25'X60' & 10' X 50"/2	0.04	U	30	4408
107	18Th St, - 3400 Block	Right Of Way North Side	10' X 200'	0.05	U	30	4310
96	20Th Rd - 3219 To Johnson St	U-Strips Both Sides	6' X 425'	0.23	U	30	4306
135	20Th St & N. Troy St	Along North Side Of Lee Highway	674' X 59'	0.91	U	30	4402
83	2100 Pollard St.	Power Box Area Next To 2114 Pollard St.		0.01	U	30	4301
133	21St St - Courthouse Rd To Vietch St	U-Strips Both Sides	6' X 200'	0.05	U	30	4401
54	23Rd St - At Old Dominion Drive	Northwest Corner Lot	20' X 30'	0.02	U	30	3214
73	23Rd St & Albemarle St	Across From 4716 N Ablemarle St	95' X 59'	0.13	U	30	4202
64	24Th St & Fillmore St.	Roadside From Drive On 24Th To Drive On Fillmore St.	6' X 450'	0.06	U	30	3315
52	25Th Rd & Old Dominion	Sw Corner Lot	37' X 49'	0.04	U	30	3214
50	25Th St - Richmond St To Vacant Lot	Large Open Areas	65' X 155'	0.23	U	30	3212
59	25Th St House At 4006 To Military Rd	U-Strips	6' X 106'	0.06	U	30	3309
37	26Th Street - 4514 To 4555	North Right Of Way Easement	6' X 780'	0.11	U	30	3206
43	26Th Street - 4624 To 4712	Glebe & 26Th St		0.25	U	30	3209
47	26Th Street Bike Trail-Yorktown Blvd To Vermont St	6 Ft Back On Each Side Of Trail	12'X 2110'	0.58	Р	30	3210
29	31St St - Military Rd To Quincy St	U-Strips Both Sides	6'X 145'	0.02	U	30	2216
32	32Nd St & Abingdon St	Across From 3139 Abingdon St	40' X 37'	0.30	U	30	3201
24	36Th St. & Woodstock St 3600 Block	Row Easement		0.02	U	30	2209
14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	6' X 377'	0.05	U	30	2202
4	41St - Glebe Rd To Dead End Both Sides	Row easements Also Under Parkway	6' X 268'	0.02	U	30	1207
5	41St Street - Off Richmond St	At Dead End Of 41St St	10' X 50'	0.01	U	30	1210
222	4Th St. Roadside	Roadside Adjacent To 400 Barton St.	6' X 50'	0.01	U	30	5409
215	500 Block N. Irving St.	Utlity Strip On Nw Corner At 5Th St.	5' X 75'	0.01	U	30	5315
227	Bedford St. Alley	Behind Houses On Wash Blvd. From Rt. 50 To Brookside Dr.	8' X 863'	0.16	U	30	6401
102	Bryan St - 18Th St To Lee Highway	Both Sides	6' X 500'	0.07	U	30	4308
103	Calvert St - 1995 To Lee Hwy	Both Sides To Dead End East U-Strip	6'X 200'	0.02	U	30	4308
131	Cleveland St. Utility Strip	West Side Of Street Between Clarendon & Wilson Blvd.	3'X 100'	0.01	U	30	4316
31	Deadend N. Quebec St. Off N. Randolph St.	Utility Strip & 4' Back Of Walkway From 2827 To 2810	8' X 200'	0.04	U	30	23-13
21	Dittmar St - 4618 @ Wakefield St	South Right Of Way Easement	6' X 60'	0.01	U	30	2205
11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	10' X 200'	0.05	U	30	2116
65	Edgewood St 2440 To 24Th St	North Right Of Way Easement	6' X 450'	0.06	U	30	3315
220	Fairfax Dr @ Rt. 50 - Rolf St To Court House Rd	Row Easements And Embankment @ Courthouse Rd	30' X 450'	0.31	U	30	5402
219	Fairfax Dr Rt.50 To Barton St.	Row At Parking Meters Across From Rocky Run	6' X 140'	0.02	U	30	5401
160	Fairfax Dr. @ Ft. Myer Dr.	Parking Meter Area South Side Of Fairfax Dr.	6' X 360'	0.05	U	30	4411
201	Fairfax Dr. Alley	Alley Between 3440 & 3444 Fairfax Dr.	12' X 75'	0.02	U	30	5306
89	Fillmore St - 3442 To 2342 (@ Lorcom Lane)	West Right Of Way Easement	6' X 150'	0.02	U	30	4303
90	Filmore St & Custis St To Custis Trail	Thrifton Hill Footpath	6' X 1000'	0.14	U	30	4303
7	Ft Ethan Allen Park - 4311 Old Glebe Rd	House Grounds Adj. To Glebe Park		0.50	Р	30	1214
99	Harvard St & 20Th St	U-Strip To 3121 Harvard St	6' X 140'	0.02	U	30	4307
216	Highland St - 414 To Pershing Dr	West Right Of Way Easement	6' X 83'	0.01	U	30	5316
112	Highland St. Alley 1800 Blk.	Alley Behind Houses Between Edgewood St. & Danville St.	6' X 600'	0.08	U	30	4312
93	Irving St And 22Nd St.	To Dead End At Old Dominion & Cul-De-Sac	6' X 640'	0.09	U	30	4303
108	Johnson St - 1909 To 18Th St	South Right Of Way Easement	10' X 600'	0.14	U	30	4310
		<u> </u>	· · · · · · · · · · · · · · · · · · ·				

Arlington County Government
Department of Parks and Recreation

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
189	Johnson St @ Washington Blvd	100' Past 13Th St Both Sides Right Of Way Easement	6' X 225'	0.03	U	30	5303
97	Kenmore St - 2121 To Lee Highway	Both Sides	6'X335'	0.18	U	30	4306
17	Kenmore St - 3445	Bank Across From And In Front Of Location	12' X 75'	0.04	U	30	2204
88	Kenmore St @ 23Rd Rd	Nw Side Utility Strip	10'X 40'	0.01	U	30	4302
148	Key Blvd - Oak St To Ode St.	West Side U-Strip	6' X 100'	0.02	U	30	4407
104	Lee Highway - Cleveland To Calvert St	Service Rd Island	50'X 300'	0.34	U	30	4308
200	Lincoln St - South Of Washington Blvd	West Side Utility Strip And Center Island	10' X 40'	0.01	U	30	5306
185	Lincoln St. @ 12Th Rd.	Utility Strip On Lincoln Next To House At 3444 12Th Rd.	4 'X 110'	0.01	U	30	5302
91	Lorcom Lane - Edgewood To Parkway	N Side Cut To Sign, S Side Cut To Pkway	6'X 700'	0.12	U	30	4303
36	Military Rd - 2707 To Beachwood Circle	Across From Taylor Park	12' X 833'	0.23	U	30	3204
16	Military Rd - 3730 To 37Th St	Row Easement	10' X 500'	0.11	U	30	2203
10	Monroe St - 3655 To 3671	Vacant Lot	6' X 115'	0.02	U	30	1216
236	N 17Th St3400 Blk Dead End	Fire Hydrant & Guardrail		0.01	U	30	4310
142	Nash St - 20Th St To Key Blvd	West Right Of Way Easement	6' X 570'	0.08	U	30	4404
106	Nelson St. Alley	Alley Behind 1702 - 1710 Nelson St. To 18Th St.	10' X 150'	0.03	U	30	4309
84	Nelson Street - 21St To 22Nd Street	Right Of Way Areas	6' X 200'	0.03	U	30	4301
120	Nw Corner Stafford St. & 15Th St.	Nw Corner Lot Between House #4207 15Th St. And Stafford St.		0.10	U	30	4216
72	Oak St - 22Nd St To Lee Highway	Also Behind Barrier East Right Of Way Easement	10' X 300'	0.07	U	30	3415
53	Old Dominion Dr 25Th To 26Th St	Vacant Lot East Side Adj. To Salt Tank	100' X 150'	0.35	U	30	3214
45	Old Dominion Drive - 25Th St To 26Th St	Right Of Way Easement Both Sides	20' X 165'	0.08	U	30	3209
85	Quincy St @ 2244 To Quebec St @ 4016	Right Of Way Areas	10' X 395'	0.09	U	30	4301
173	Quinn St - 1230 To 1240	U-Strip South Of Rt. 50, West Of Queen And Quinn St	10 7.000	0.01	U	30	4415
134	Quinn St - 21St Rd To 21 St	Right Of Ways And Island		0.15	U	30	4402
136	Quinn St - Key Blvd To Lee Highway	East Right Of Way Easement	12'X310'	0.34	U	30	4403
3	Randolph St - 23Rd St To Lorcom Lane	Row easement	6' X 275'	0.04	U	30	3212
56	Randolph St - 2756 To 2736	Row Easement	6' X 320'	0.04	U	30	3216
58	Randolph St - 4101 To 4020	Both Sides Row Easements	6'X515'	0.07	U	30	3305
174	Rhodes & 14Th St Bridge Abutments	Both Sides Of Rt. 50 And Sw Corner Of Queens St	25' X 110'	0.06	U	30	4415
51	Richmond St - 2306 To Deadend	Both Sides Row Easements	6' X 335'	0.05	U	30	3212
6	Richmond St - Old Glebe Rd To 41St St	East Row easement	6' X 300'	0.04	U	30	1210
18	Roberts Lane - 3525 To 3469	East And North Of Monroe St	6' X 100'	0.01	U	30	2204
71	Rolfe St - 2126 To Dead End	West Row Easement	6' X 190'	0.03	U	30	3414
170	Rolfe Street -1307 To 1321	East Side Right Of Way Easement	6' X 375'	0.05	U	30	4414
70	Scott St - 21St Rd To Dead End		12' X 185'	0.05	U	30	3414
77	Strafford Park Hillside	Steep Bank Around Upper Field	30' X 725'	0.50	P	30	4204
92	Sw Corner Lorcom Lane At Edgewood St.	Roadway Nub To Include Area Behind Leyland Cypress Trees	40' X 80'	0.07	U	30	4303
34	Upshur Street - South Of 26Th	East Side	6' X 120'	0.02	U	30	3203
75	Upton St. @ Old Dominion Dr.	West Side Of Upton From Old Dominion Dr. End Of Fence	4' X 175'	0.02	U	30	4203
39	Utah St - Vacation Lane To Deadend	Row Easement	20' X 350'	0.16	U	30	3207
49	Utah St - 2420 To Taylor St	Row Easements	6' X 290'	0.04	U	30	3211
57	Vacation Lane & Taylor St.	Triangular Corner Plot In The 2300 Blk. Vacation Ln.	100' X 200'	0.40	U	30	3216
20	Vermont St - House At 3725 To Ditmar St	U-Strip	6' X 268'	0.04	U	30	2205
144	Vietch St. @ Lee Highway	U-Strips From Lee Highway To I-66 Both Sides		0.16	U	30	4405
182	W&L High School - Under Stadium Bleachers	Also Outside Stafford Street Fence		0.80	S	30	5301
260	Dawson Terrace Center - Taft St & 21St St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.52	P	AF	
262	Dorothy Hamm School 4100 N Vacation Ln- (HB Woodlawn)	Athletic Field - Rectangle - Bermuda Grass - Irrigation		1.45	P	AF	
274	Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.88	P	AF	
263	Key Elementary School	Athletic Field - Rectangle - Cool Season Grass - Irrigation		0.66	P	AF	

NORTHEAST MOWING LOCATIONS

ID	LOCATION	DESCRIPTION	DIMENSIONS	ACRES	TYPE	FREQ	TAX MAP
261	Long Branch School/Fillmore Park	Athletic Field - Combo - Diamond - Cool Season Grass - No Irrigation		0.46	Р	AF	
264	Oak Grove Park	Athletic Field - Rectangle - Bermuda Grass - Irrigation		0.81	Р	AF	
265	Quincy Park - 1021 N. Quincy St	Athletic Field #1, 2 and Aux - Bermuda Grass - Irrigation		3.98	Р	AF	
267	Quincy Park - 1021 N. Quincy St	Athletic Field #3 - Diamond - Bermuda Grass - Irrigation		1.34	Р	AF	
269	Stratford Park - 4321 Old Dominion Dr.	Athletic Field - Diamond - Cool Season Grass - Irrigation		0.78	Р	AF	
271	Taylor Elementary School	Athletic Field #1 - Combo Diamond - Cool Season Grass - No Irrigation		0.64	Р	AF	
272	Taylor Elementary School	Athletic Field #2 - Combo Diamond - Cool Season Grass - No Irrigation		0.64	Р	AF	
270	Washington Liberty High School	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation		1.56	Р	AF	
273	Woodmont Center - N Of 24Th St On Filmore	Athletic Field - Rectangle - Cool Season Grass - No Irrigation		0.28	Р	AF	
275	Donaldson Run - 2929 Military Rd	Lift Station			DES	14	
276	Dover Run - 2801 N Quebec St.	Lift Station			DES	14	
277	Gulf Run - 3611 Military Rd	Lift Station			DES	14	
278	Kirkwood Rd - 1616 Kirkwood Rd	Lift Station			DES	14	
279	Windy Run - 2500 N. Kenmore	Lift Station			DES	14	
280	Riverwood - 2770 N Nelson St	Lift Station			DES	14	
281	Marcey Creek - 2685 N Marcey Rd	Lift Station			DES	14	
282	River Estates - 3533 36th Rd N	Lift Station			DES	14	
283	River Crest - 3560 36th Rd N	Lift Station			DES	14	
284	Palasades - 2141 Scott ST	Lift Station			DES	14	

TYPES: U=Utility Strip; P=Parks; S=Schools; DES=Dept of Environmental Services; DHS=Dept of Human Services; L=Libraries

REVISED EXHIBIT F - PRICING SHEET - NORTHWEST

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Weel Month	or	Anr	ual Mowing Price
		Athletic Field - Rectangle - Bermuda Grass								
204	Benamin Banneker Park	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 300.	00	\$	6,600.00
		Athletic Field - Rectangle - Bermuda Grass								
205	Bluemont Junction Park	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 320.	00	\$	7,040.00
		Athletic Field - Rectangle - Bermuda Grass								
210	Charles A. Stewart Park	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.	00	\$	4,400.00
	Fields Park - George Mason & Wilson	Athletic Field - Rectangle - Bermuda Grass								
212	Blvd	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 220.	00	\$	4,840.00
		Athletic Field - Rectangle - Bermuda Grass								
213	Glebe School - 1700 N. Glebe Rd	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 180.	00	\$	3,960.00
	Greenbrier Park /Yorktown School-	Athletic Field #1 - Diamond - Bermuda								
214	2800 Greenbrier St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 175.	00	\$	3,850.00
	Greenbrier Park /Yorktown School-	Athletic Field #2 - Diamond - Bermuda								
215	2800 Greenbrier St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 200.	00	\$	4,400.00
	Greenbrier Park /Yorktown School-	Athletic Field #3 - Diamond - Bermuda								
216	2800 Greenbrier St	Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 500.	00	\$	11,000.00
		Athletic Field - Diamond - Bermuda Grass -	ł							
217	Highview Park - 1900 N. Cameron St	Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 159.	00	\$	3,498.00
	Madison Manor Park - 1201 N.	Athletic Field - Combo - Bermuda Grass -								
222	Quantico St	Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 400.	00	\$	8,800.00
	Powhatan Springs Park 6020 Wilson	Athletic Field - Rectangle - Bermuda Grass								
225	Blvd.	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 225.	00	\$	4,950.00
	Swanson Middle School - 5800 Wash.	Athletic Field - Rectangle - Bermuda Grass								
226	Blvd	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 425.	00	\$	9,350.00
		Athletic Field #1 - Combo Diamond -								
227	Tuckahoe Park - 2400 N.Sycamore St.	Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 575.	00	\$	12,650.00
		Athletic Field - Rectangle - Bermuda Grass								
231	Westover Park - 1011 N. Kennebec St	- Irrigation - Reel Mower	Р	AF	22	Weeks	\$ 180.	00	\$	3,960.00
	Williamsburg School - 36Th & N.	Athletic Field - Combo Diamond -								
234	Harrison St	Bermuda Grass - Irrigation -Reel Mower	Р	AF	22	Weeks	\$ 400.	00	\$	8,800.00
	Lump Sum T	otal for Athletic Fields with Berm	nuda	a Gra	ass				\$	98,098.00

Ī			Athletic Field #3 - Combo Diamond - Cool							
	208	Bluemont Park	Season Grass - Irrigation	Р	AF	31	Weeks	\$ 1	20.00	\$ 3,720.00

Bidder Name:

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ar	nnual Mowing Price
		Athletic Field #1 - Diamond - Cool Season							
232	Westover Park - 1011 N. Kennebec St	Grass - Irrigation	Р	AF	31	Weeks	\$ 80.00	\$	2,480.00
		Athletic Field #2- Diamond - Cool Season							
233	Westover Park - 1011 N. Kennebec St	Grass - Irrigation	Р	AF	31	Weeks	\$ 30.00	\$	930.00
	Lump Sum Total for A	thletic Fields with Cool Season G	iras	s wit	h Irriga	ation		\$	7,130.00
	Arlington Traditional School - 850 N.	Athletic Field #1 - Diamond - Cool Season							
202	George Mason Dr.	Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00
	Arlington Traditional School - 850 N.	Athletic Field #2 - Diamond - Cool Season							
203	George Mason Dr.	Grass - No Irrigation	Р	AF	31	Weeks	\$ 65.00	\$	2,015.00
		Athletic Field #1 - Diamond - Cool Season							
206	Bluemont Park	Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00
		Athletic Field #2 - Combo Diamond - Cool							
207	Bluemont Park	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00
		Athletic Field Aux - Open Grass - Cool							
209	Bluemont Park	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 220.00	\$	6,820.00
	East Falls church Park - 1730 N.	Athletic Field - Open Grass - Cool Season							
211	Roosevelt St.	Grass - No Irrigation	Р	AF	31	Weeks	\$ 90.00	\$	2,790.00
	Jamestown Park Back- 3618 N.	Athletic Field - Combo Rectangle - Cool							
218	Dickerson St.	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 250.00	\$	7,750.00
	Jamestown Elementary School Front -	Athletic Field - Combo Diamond - Cool							
219	37Th & Delaware St	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00
	Lacey Woods Park - George Mason Dr @	Athletic Field - Rectangle - Cool Season							
220	Wash. Blvd	Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00
	Nottingham School - Ohio St & Little	Athletic Field #1 - Combo Diamond - Cool							
223	Falls Rd	Season - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00
	Nottingham School - Ohio St & Little	Athletic Field #2 - Combo Diamond - Cool							
224	Falls Rd	Season - No Irrigation	Р	AF	31	Weeks	\$ 150.00	\$	4,650.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Diamond - Cool Season							
228	Rd	Grass - No Irrigation	Р	AF	31	Weeks	\$ 140.00	\$	4,340.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Lower - Rectangle - Cool							
229	Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 75.00	\$	2,325.00
	Walter Reed School - 1644 N McKinley	Athletic Field - Upper - Rectangle - Cool							
230	Rd	Season Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00

Bidder Name:		

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
		Athletic Field - Rectangle - Cool Season							
235	Woodlawn Park - Buchanan & 14Th St	Grass - No Irrigation	Р	AF	31	Weeks	\$ 120.00	\$	3,720.00
	Lee Center - Lee Highway & Lexington	Athletic Field - Diamond - Cool Season							
221	St	Grass - No Irrigation	Р	AF	31	Weeks	\$ 42.00	\$	1,302.00
	Lump Sum Total for Athletic Fields with Cool Season Grass - No Irrigation							\$	68,107.00

	Jamestown Elementary School - 37Th	All Areas Except Inside Building Sidewalks						
1	& Delaware St	And Parking Lots		7-14	23	Weeks	\$ 180.00	\$ 4,140.00
		5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5						17 1
2	Jamestown Park - 3618 N. Dickerson St.		Р	7-14	23	Weeks	\$ 16.00	\$ 368.00
5	36Th & N. Glebe Rd - Street Island		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Edison St & 37Th St - At Dead End Of N.							
6	37Th St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	36Th & Potomac St - 6200 Block Of							
8	36Th St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	35Th St & Pocomoke - 3500 Block Of							
9	Potomac St		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Minor Hill & Sharp Park-Wlmsburg &							
10	Powhattan	All Areas Around Tanks & Gardens	Р	7-14	23	Weeks	\$ 51.00	\$ 1,173.00
	Williamsburg Blvd - Little Falls Rd To	All Islands Including Large Islands At						
11	Glebe	Little Falls	U	7-14	23	Weeks	\$ 88.00	\$ 2,024.00
		Street Median From Williamsburg Blvd.						
12	Little Falls Road	To Nottingham St.	U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	Williamsburg School - 36Th & N.	All Areas Except Inside Building Sidewalks						
15	Harrison St	And Parking Lots	S	7-14	23	Weeks	\$ 900.00	\$ 20,700.00
	George Mason Dr - Old Dominion To							
16	Little Falls		U	7-14	23	Weeks	\$ 16.00	\$ 368.00
	John Marshall Dr - Little Falls To							
19	Williamsburg	Island & West Row easement	U	7-14	23	Weeks	\$ 30.00	\$ 690.00
21	Yorktown Blvd - Lexington To Edison	Islands	U	7-14	23	Weeks	\$ 16.00	\$ 368.00
		Park Goes To Yorktown Blvd @ G.M.						
22	Rock Springs Park - 5000 Little Falls Rd.	Drive All Areas	р	7-14	23	Weeks	\$ 110.00	\$ 2,530.00
	George Mason Dr - Yorktown Blvd To	All Islands & Lg. Open Areas At Lee						
23	Route 50	Highway	U	7-14	23	Weeks	\$ 300.00	\$ 6,900.00

Bidder Name:

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	annual Mowing Price
	Nottingham School - Ohio St & Little	All Areas Except Inside Building Sidewalks							
24	Falls Rd	And Parking Lots	S	7-14	23	Weeks	\$ 100.00	\$	2,300.00
		Backs Up To Greenbriar Stadium To							
25	Chestnut Hills Park - 2723 N Harrison St	Include Garden Plots	Р	7-14	23	Weeks	\$ 166.80	\$	3,836.40
	Greenbrier Park /Yorktown School-	All Slopes, Adj. U-Strips, Parking Lots,							
26	2800 Greenbrier St	And Fence Lines	Р	7-14	23	Weeks	\$ 660.00	\$	15,180.00
	Yorktown Blvd - Under Old Dominion	Islands And Easements West Side Of							
27	Overpass	Bridge	U	7-14	23	Weeks	\$ 16.00	\$	368.00
	Birch Cemetery - N.28Th St. &								
28	Sycamore St.	All Areas	Р	7-14	23	Weeks	\$ 16.00	\$	368.00
	Andrew Ellicot Park - Arizona St,	S. Of Williamsburg Blvd Park And Adj.							
29	Western Corner	Rows	Р	7-14	23	Weeks	\$ 16.00	\$	368.00
	Tuckahoe School - 6550 N. 26Th St, @	All Areas Except Inside Building Sidewalks							
31	Sycamore St	And Parking Lots	S	7-14	23	Weeks	\$ 420.00	\$	9,660.00
	Sycamore St - 26Th St To Williamsburg	All Islands And Utility Strips & N. Bank @							
33	Blvd.	I-66 Exit Ramp	U	7-14	23	Weeks	\$ 90.00	\$	2,070.00
	Fairfax Drive -From Westmoreland To	Islands , Utility Strip & Row @							
34	Little Falls	Winchester St.	U	7-14	23	Weeks	\$ 16.00	\$	368.00
	Charles A. Stewart Park - Underwood St	All Areas Fences, Rear Areas, Curbs,							
37	& 24Th	Playground,	Р	7-14	23	Weeks	\$ 160.00	\$	3,680.00
		All Areas From Lee Highway To 26Th St,							
38	Tuckahoe Park - 2400 N.Sycamore St.	Woods, U-Strips	Р	7-14	23	Weeks	\$ 300.00	\$	6,900.00
41	Ohio St & 26Th - Next To 2507 Ohio St		Р	7-14	23	Weeks	\$ 8.00	\$	184.00
		All Areas Including Outside Fence Lines							
	Lee Center - Lee Highway & Lexington	And Adj. To Streets, Mechanical Edging							
42	St	along Entry way	Р	7-14	23	Weeks	\$ 60.00	\$	1,380.00
	John Marshall Greenway - 2200 N. John								
44	Marshall Dr.	N 20Th To Lee Hwy And Field At Lee Hwy	U	7-14	23	Weeks	\$ 140.00	\$	3,220.00
		Roadside Adjacent To House #6101 20Th							
45	Ohio St @ N. 20Th St.	St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Patrick Henry Dr - 20Th St. George								
46	Mason Dr.		U	7-14	23	Weeks	\$ 25.00	\$	575.00
47	22Nd & N. Potomac St Street Island		U	7-14	23	Weeks	\$ 16.00	\$	368.00

Bidder Name:		

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mo	owing Price
		Park Loops Behind 20Th & 21St Houses							
48	Parkhurst Park - 5820 N. 20Th St.	All Areas	Р	7-14	23	Weeks	\$ 290.00	\$	6,670.00
		All Areas Fences, Rear Areas, Curbs,							
		Playground, Mechanical Edging along							
52	Langston Center - 4854 Lee Highway	entrance way	Р	7-14	23	Weeks	\$ 65.00	\$	1,495.00
		All Areas includes Utility Strips,							
53	Fire Station #8 - 4845 Lee Highway	Mechanical Edging along entrance way	F	7-14	23	Weeks	\$ 8.00	\$	184.00
	Cameron St & Lee Highway - Large								
54	Islands	Totem Pole Areas And Adj. U-Strips	Р	7-14	23	Weeks	\$ 8.00	\$	184.00
57	Big Walnut Park - 1901 N. Harrison St		Р	7-14	23	Weeks	\$ 90.00	\$	2,070.00
58	Highview Park - 1900 N. Cameron St	All Areas And All Perimeters	Р	7-14	23	Weeks	\$ 110.00	\$	2,530.00
	Slater Tract Park - N. 19Th & N.								
59	Culpeper St.	Both Sides And Wooded Areas In Middle	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	19Th & Culpeper St - Next To 1827								
60	Culpeper St		U	7-14	23	Weeks	\$ 8.00	\$	184.00
		All Areas Except Inside Building Sidewalks							
62	Glebe School - 1700 N. Glebe Rd	And Parking Lots	S	7-14	23	Weeks	\$ 70.00	\$	1,610.00
65	Dinwiddie St - 17Th St To Edison St.	South Side Utility Strip	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	17Th & Culpeper St - Next To 1717								
66	Culpepper	Also Along Fence On Sw Corner 60' X 6'	U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Benjamin Bannaker Park - 6620 N. 18Th	All Areas - Fences, Wooded Areas, Stream							
70	St.	Edges	Р	7-14	23	Weeks	\$ 735.00	\$	16,905.00
	East Fallschurch Park - 1730 N.	All Areas - Fences, Wooded Areas, Stream							
71	Roosevelt St.	Edges	Р	7-14	23	Weeks	\$ 100.00	\$	2,300.00
77	21St & N. Potomac St Street Island		U	7-14	23	Weeks	\$ 16.00	\$	368.00
81	26Th St & Potomac St - 2500 Block		U	7-14	23	Weeks	\$ 16.00	\$	368.00
84	Ohio St. & N.18Th St Corner Location		U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Ohio St. & 14Th St - I-66 Entrance To								
85	Bike Trail		Р	7-14	23	Weeks	\$ 28.00	\$	644.00
	Kenilworth St. N. & 15Th St - Island								
86	Areas		U	7-14	23	Weeks	\$ 8.00	\$	184.00
	Madison Manor Park - 1201 N.	All Areas - Fences, Wooded Areas, Stream							
87	Quantico St	Edges	Р	7-14	23	Weeks	\$ 422.00	\$	9,706.00

Bidder Name: _____

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
88	Four Mile Run Drive & Madison St	West To Cul De Sac	Р	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Ohio St @ Mckinley Rd - St Row By Bike	To Include Utility Strip Adjacent To 6107						
90	Trail	12Th Rd.	Р	7-14	23	Weeks	\$ 28.00	\$ 644.00
	Swanson Middle School - 5800 Wash.	Sports Field Area And Street Median @						
93	Blvd	Crosswalk	Р	7-14	23	Weeks	\$ 100.00	\$ 2,300.00
	Mckinley School - 1030 N. Mckinley	All Areas Except Inside Building Sidewalks						
94	Rd.	And Parking Lots	S	7-14	23	Weeks	\$ 300.00	\$ 6,900.00
	Mace Park - Patrick Henry Dr. To	Also Trail To Arlington Mill Drive And						
95	Liberty St.	Along Creek	Р	7-14	23	Weeks	\$ 80.00	\$ 1,840.00
97	9Th Rd Cul-De-Sac - Near Lexington St	U-Strip And Bank	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
		All Areas Including Slope Areas and areas						
98	Westover Park - 1011 N. Kennebec St	around fields	Р	7-14	23	Weeks	\$ 210.00	\$ 4,830.00
100	Woodlawn Park - Buchanan & 14Th St	All Areas From 13Th St To Back Of Hospice	Р	7-14	23	Weeks	\$ 90.00	\$ 2,070.00
101	Glebe Rd & North 13Th St		U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Lacey Woods Park - George Mason Dr @	Open Areas, Woods Perimeters,						
102	Wash. Blvd	Playground Area, U-Strips	Р	7-14	23	Weeks	\$ 100.00	\$ 2,300.00
104	Washington Blvd & N. Glebe Rd	Island 50' West Of Glebe Rd	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
105	Aberdeen St & Washington Blvd @ I-66	Mow Bank & Trim Bumper Rail	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
107	10Th St - At George Mason Dr. & I-66	Nw & Sw Corners	U	7-14	23	Weeks	\$ 25.00	\$ 575.00
108	9Th & Harrison St At I-66	4 Sides Of Bridge & Dead End Area	J	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Connector Trail - Lexington To Harrison							
109	St.	South Of I-66 Trail And Street U-Strips	Р	7-14	23	Weeks	\$ 80.00	\$ 1,840.00
112	Jacksonville St - 9Th Rd To 9Th St	West Row Easement	U	7-14	23	Weeks	\$ 8.00	\$ 184.00
	Arlington Traditional School - 850 N.	All Areas Except Inside Building Sidewalks						
113	George Mason Dr.	And Parking Lots	S	7-14	23	Weeks	\$ 200.00	\$ 4,600.00
	Fields Park - George Mason & Wilson	Area Surrounding Field And Bike Trail To				_		
114	Blvd	Fairfax Drive	Р	7-14	23	Weeks	\$ 320.00	\$ 7,360.00
	8Th St & N. Buchanan St Off Wilson					_		
115	Blvd		U	7-14	23	Weeks	\$ 8.00	\$ 184.00
		All Areas, mechanical edging along						
116	Fire Station #2 - 4815 Wilson Blvd.	entrance way	F	7-14	23	Weeks	\$ 8.00	\$ 184.00

Bidder Name:		
Diudei Naille.		

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	А	Annual Mowing Price
		All Areas-Playfields, Picnic Gnds, Stream							
122	Bon Air Park - Wilson Blvd To I-66	Edges, Parking Lots	Р	7-14	23	Weeks	\$ 400.00	\$	9,200.00
	Wilson Blvd - From Mckinley To								
123	Lexington	All Islands	U	7-14	23	Weeks	\$ 425.00	\$	9,775.00
	Patrick Henry Drive - Wilson Blvd To N.								
124	10Th	Islands And Some U-Strips	U	7-14	23	Weeks	\$ 6.00	\$	138.00
	Powhatan Springs Park 6020 Wilson								
126	Blvd.	All Grass Areas & Sidewalk Utility Strips	Р	7-14	23	Weeks	\$ 78.00	\$	1,794.00
	Bluemont Park - Wilson Blvd To Route	All Areas-Playfields, Picnic Ground,							
127	50 Bridge	Stream Edges, Parking Lots	Р	7-14	23	Weeks	\$ 1,300.00	\$	29,900.00
134	800 Block N. Greenbriar St.	Street Island Across From 851	U	7-14	23	Weeks	\$ 6.00	\$	138.00
	Carlin Springs Rd - Kensington To								
136	G.Mason Dr.	Street Islands	U	7-14	23	Weeks	\$ 28.00	\$	644.00
	Granada St - Street Island Near N. 4Th								
137	St.		U	7-14	23	Weeks	\$ 28.00	\$	644.00
		All Areas Except Inside Building Sidewalks							
138	Barrett School - 4401 N. Henderson Rd	And Parking Lots	S	7-14	23	Weeks	\$ 230.00	\$	5,290.00
		Rt. 50 To George Mason Drive Including							
	Lubber Run Rec. Center & Park - 300	All Access Streets, Mechanical Edging							
139	Park Drive	along entrance way	Р	7-14	23	Weeks	\$ 340.00	\$	7,820.00
	Bluemont Junction Trail - Wilson To	All Open Areas, Street Crossings And Cul-							
140	Bluemont Park	De-Sac Access Areas	Р	7-14	23	Weeks	\$ 260.00	\$	5,980.00
143	2Nd Rd & Columbus St	Islands	U	7-14	23	Weeks	\$ 5.00	\$	115.00
							_		
144	Glebe Rd N. @ Carlyn Springs Rd - Island	1St Island South Of Carlyn Springs Rd	U	7-14	23	Weeks	\$ 10.00	\$	230.00
	Carlin Springs Rd & Kensington St - Bike								-
145	Trail	Along Bike Trail East Side Of Kensington	Р	7-14	23	Weeks	\$ 70.00	\$	1,610.00
147	Granada St & Arlington Blvd - Corners		U	7-14	23	Weeks	\$ 5.00	\$	115.00
148	1St Place - At Carlin Springs Rd.	Hillside Area	U	7-14	23	Weeks	\$ 10.00	\$	230.00
149	Edison Park - 213 N. Edison St.		Р	7-14	23	Weeks	\$ 18.00	\$	414.00
150	Edison & N. Arlington Blvd - Corners		U	7-14	23	Weeks	\$ 10.00	\$	230.00
	3	Park & Islands At Shopping Center			_				<u> </u>
151	Park Drive & Arlington Blvd	Entrance & 2 On Rt. 50	U	7-14	23	Weeks	\$ 60.00	\$	1,380.00

D: 1.1 N.	
Bidder Name:	

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
		7 Areas - Ramps, Underpass U-Strips,							
152	Rte 50 & Glebe Rd - Islands And U-Strips	Islands,	U	7-14	23	Weeks	\$ 20.00	\$	460.00
	Rt. 50 & George Mason Drive - IslaInds								
154	& U-Strips	7 Areas - Glebe Rd To North Henderson St	U	7-14	23	Weeks	\$ 28.00	\$	644.00
		All Areas Except Inside Building Sidewalks							
156	Ashlawn School - 5950 N. 8Th Rd	And Parking Lots	S	7-14	23	Weeks	\$ 220.00	\$	5,060.00
	Route 50 West Entryway - @ County	Near Nottingham St Intersection Mow							
157	Line	Area Around Sign	U	7-14	23	Weeks	\$ 10.00	\$	230.00
	Rt. 50 & Manchester St - Rt. 50 Center								
159	Island	West Of Intersection Very Small Island	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Medians Fron N. Tridad To N.							
161	Williamsburg Blvd Medians	Westmoreland St.	U	7-14	23	Weeks	\$ 28.00	\$	644.00
		ROW On N. George Mason & Utility Strip							
162	N. George Mason Dr & N. 16Th Street	On 16Th St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Median Strip From N. 16Th St To N.							
163	N. Patrick Henry Dr. Median Strip	Illinois St.	U	7-14	23	Weeks	\$ 34.00	\$	782.00
164	N Aberdeen St. Row	R-O-W In Fron To 1122 N. Aberdeen St.	U	7-14	23	Weeks	\$ 5.00	\$	115.00
		Island At The Intersection Of 25Th & N.							
165	25Th & N. Florida St.	Florida St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Nw Corner Of N. George Mason Dr &							
166	Buckingham Plaza Mini-Park	Henderson St.	Р	7-14	23	Weeks	\$ 20.00	\$	460.00
167	N. Wilson BlvdMedian Strip	Median From N. Edison To N. Fredrick St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
168	N. Emerson St. Row	Row Adjacent To 1501 N. 25Th Street	Р	7-14	23	Weeks	\$ 10.00	\$	230.00
		Median Fron Washington Blvd. To							
170	N. Ohio St	N.18Th St.	U	7-14	23	Weeks	\$ 5.00	\$	115.00
171	North Fairfax Drive Park	All Areas Except Inside Building Sidewalk.	Р	7-14	23	Weeks	\$ 30.00	\$	690.00
173	N. 5Th & Jefferson St.	Row Surroudning 502 N. Jefferson St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
		Row Next To 500 N. Abingdon StFrom							-
174	N. Abingdon St.	Abingdon To Stream	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
	Walter Reed School - 1644 N McKinley	Grass areas along 18th st N and N					-		-
200	Rd	Lexington St - Under Construction	Р	7-14	23	Weeks	\$ 20.00	\$	460.00

Diddor Namo	
Bidder Name:	

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	ıΑ	nnual Mowing Price
	Walter Reed School Grounds/Westover								
201	Library	Grassy areas along N McKinley Rd	S	7-14	23	Weeks	\$ 35.00	\$	805.00
		Medians From Randolph St.To Wilson	U						
243	N Glebe	Blvd.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
244	Upper Pimmit - 3912 N Dumbarton St	Lift Station	DES	14	16	Weeks	\$ 190.00	\$	3,040.00
	Lum	np Sum Total for 7 - 14 day Cycl	е					\$	265,856.40

	Dumbarton St. Next To 3905 (Upper	Open Lot East Side Of Street - Upper						
3	Pimmit Run)	Pimmit Run	Р	30	7	Months	\$ 80.00	\$ 560.00
	Dumbarton St. West Side (Upper	Open Lot Between 3900 & 3916 (address						
4	Pimmitt Run)	for lot is 3912)	Р	30	7	Months	\$ 50.00	\$ 350.00
7	Glebe Rd. & Little Falls Rd.	Traffic Island & N. Utility Strip	U	30	7	Months	\$ 10.00	\$ 70.00
13	36Th St - Kensingston St To School Field	North Row Area Adjacent To Street	U	30	7	Months	\$ 10.00	\$ 70.00
	Williamsburg School Trail - Field To							
14	Harrison St		Р	30	7	Months	\$ 20.00	\$ 140.00
	Frederick St. Alley - Behind 3601	Utility Easement Next To 5155						
17	Harrison St.	Williamsburg Blvd.	U	30	7	Months	\$ 20.00	\$ 140.00
	Old Dominion Access Road - 29Th To							
18	Rock Spring Rd		U	30	7	Months	\$ 20.00	\$ 140.00
	Harrison St - Little Falls Rd To Yorktown							
20	Blvd	East Row easement	U	30	7	Months	\$ 10.00	\$ 70.00
30	Westmoreland St. At N.29Th St.	Sidewalk R-O-W West Side Of Street	U	30	7	Months	\$ 10.00	\$ 70.00
		On Side Of House At 2720 North Row						
32	Little Falls Rd - 6714 To Underwood St	easement	U	30	7	Months	\$ 10.00	\$ 70.00
	Westmoreland St - Fairfax Dr To	Row Areas Both Side And Adj. To I-66						
35	Williamsburg Blvd	Bridge	U	30	7	Months	\$ 10.00	\$ 70.00
		Sw Corner Lot To Base Of Hill To I-66						
36	28Th St. & Westmoreland St.	Bridge	U	30	7	Months	\$ 10.00	\$ 70.00
39	26Th St. & Lexington St.	Property Fence	U	30	7	Months	\$ 10.00	\$ 70.00
40	28Th St. R-O-W	Lexington St.	כ	30	7	Months	\$ 10.00	\$ 70.00
	22Nd St. From Lexington To Kentucky	North Side Utility Strip Adjacent To 2115						
49	St.	Lexington St.	U	30	7	Months	\$ 10.00	\$ 70.00

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowing Price
50	Dinwiddie St @ 2329 - Dead End	East Row easement	כ	30	7	Months	\$ 10.00	\$ 70.00
51	23Rd Rd - Dickerson St To Deadend	South Row easement	כ	30	7	Months	\$ 10.00	\$ 70.00
55	23Rd Rd - 5100 To 5123 24Th St	Alley Behind Shopping Center	J	30	7	Months	\$ 10.00	\$ 70.00
56	Brandywine St. Alley	Behind Houses From Deadend To 21St St.	U	30	7	Months	\$ 19.00	\$ 133.00
61	Cameron St - Between 1917 & 1927	East Row easement	U	30	7	Months	\$ 10.00	\$ 70.00
		Dead end R-O-W Off George Mason Dr.						
64	19Th St. R-O-W - 5200 Block	After House #5231	U	30	7	Months	\$ 10.00	\$ 70.00
67	Little Falls Road @ Winchester St	East Row Adj. To Bike Trail On Little Falls	U	30	7	Months	\$ 8.00	\$ 56.00
	Fairfax Drive - Lee Hwy To Vanderpool							
68	To 19Th Rd	Row easements Both Sides	U	30	7	Months	\$ 8.00	\$ 56.00
	Isaac Crossman Park-Westmoreland St							
69	19Th To Van Buren St	East Side Row All Along Woods	U	30	7	Months	\$ 19.00	\$ 133.00
	Roosevelt St 1709 To Bike Trail							
72	Entrance	East Side Row All Along Woods	U	30	7	Months	\$ 19.00	\$ 133.00
78	`	Both Side Of Street	U	30	7	Months	\$ 20.00	\$ 140.00
	Potomac St @ Pomomoke St - Open	Also West Row Of Potomac St To Bike				_		
82	Area	Trail	U	30	7	Months		\$ 70.00
83	Quantico St @ N. 18Th Rd - Ne Corner	Vacant Lot Area	U	30	7	Months	\$ 10.00	\$ 70.00
		Sidewalk Island & 2' Behind Sidewalk						
89	Madison St. @ Four Mile Run Dr.	From 1023 To Corner	U	30	7	Months	\$ 10.00	\$ 70.00
	Dead-End Mckinley Rd. North Side Of I-	4Ft. Behind Curb From Biketrail Entrance						
91	66	To House #1321	U	30	7	Months	\$ 8.00	\$ 56.00
92	Livingston St @ 1222. Trail	To Swanson School & 15Th Street	U	30	7	Months	\$ 8.00	\$ 56.00
		Area Between Houses And I-66 To Patrick						
96	Kentucky St @ 966 - Vacant Lot	Henry Drive	U	30	7	Months	\$ 55.00	\$ 385.00
99	16Th St. Between Houses 5404 & 5506	Roadside Between Fence And Curbline	U	30	7	Months	\$ 8.00	\$ 56.00
	Evergreen St. @ Washington Blvd. Row	All Rows On The Evergreen G.M. Block 4						
103	Areas	Sides	U	30	7	Months	\$ 15.00	\$ 105.00
106	Frederick St. 1100 Block	East Side Between 11Th St. And 11Th Rd.	Р	30	7	Months	\$ 8.00	\$ 56.00

Diddor Namo	
Bidder Name:	

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	P	Annual Mowing Price
	Fairfax Drive - Harrison St To Kennebec	South Row easement & Deadend E Of							
110	St	Harrison St	U	30	7	Months	\$ 40.00	\$	280.00
111	N.W. Corner Harrison & Fairfax Dr.	Corner Lot Next To 5409	U	30	7	Months	\$ 8.00	\$	56.00
117	Buchanan St - Fairfax Dr. To N. 8Th Rd.	East Row Easement	U	30	7	Months	\$ 8.00	\$	56.00
	Wilson Blvd @ 4617 - Across From	Lot Behind Restaurant, Field &							
118	Abington St	Perimeters	Р	30	7	Months	\$ 50.00	\$	350.00
		Hillside Area East Side Of St. From Wilson							
119	700 Block Of N. Abingdon St.	To House #733	U	30	7	Months	\$ 8.00	\$	56.00
	Rt. 50 Service Road - Henderson To Park								
120	Drive	South Row Easement	U	30	7	Months	\$ 8.00	\$	56.00
121	Wakefield St - Wilson Blvd To Deadend	East Row Easement	U	30	7	Months	\$ 8.00	\$	56.00
	Madison St - Wilson Blvd. To 934								
125	Madison St.	Also Corner Lot @ Wilson Blvd	U	30	7	Months	\$ 25.00	\$	175.00
	8Th Rd & Lexington St - Road In								
129	Bluemont	Entrance Gate To Soccer Field	Р	30	7	Months	\$ 8.00	\$	56.00
130	8Th Rd - North Of Manchester St	North Row Easement To Dead End	U	30	7	Months	\$ 8.00	\$	56.00
131	Livingston St - Wilson Blvd To 5Th	West Utility Strip	U	30	7	Months	\$ 8.00	\$	56.00
	Wilson Blvd & N Harrison St-Nw Corner	8' Area Behind Sidewalk From Harrison							
132	Along Wilson Blvd.	St. To Drive Of 5411	U	30	7	Months	\$ 8.00	\$	56.00
		Dead End And Planter Area Along Wilson							
133	Kensington St At N. 8Th Road	Blvd	U	30	7	Months	\$ 8.00	\$	56.00
135	7Th Street - Deadend Off Kensington St		U	30	7	Months	\$ 8.00	\$	56.00
		West Side Row Adj. To Woods To Dead							
141	4Th St & Four Mile Run Dr	End	U	30	7	Months	\$ 8.00	\$	56.00
142	Jefferson St. Nature Trail	6' Both Sides Of Trail To Carlin Springs Rd.	Р	30	7	Months	\$ 15.00	\$	105.00
	Kensington St Berms @ 340 Kensington	Enter At Vepco Gate On Lower							
146	Cul-De-Sac	Kensington St All Areas Behind Berms	Р	30	7	Months	\$ 25.00	\$	175.00
153	5Th & Harrison St - Se And Ne Corners		U	30	7	Months	\$ 8.00	\$	56.00
155	Kensington St - 4Th St-Carlin Springs Rd	West Row easement	U	30	7	Months	\$ 8.00	\$	56.00
		Area Between Soundwall And Curb And							
158	Madison St. Deadend At Rt. 50	Along Walk To Rt. 50	U	30	7	Months	\$ 8.00	\$	56.00

Department of Parks and Recreation

PRICING SHEET - NORTHWEST

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	An	nual Mowing Price
160	N. Patrick Henry Dr- Medians	Medians On Both Sides Of N. 11Th Street	J	30	7	Months	\$ 8.00	\$	56.00
		Community Garden Next To 2909 N.							
169	N Harrison St. Community Garden	Harrison St.	Р	30	7	Months	\$ 25.00	\$	175.00
172	N. 16Th & Patrick Henry Dr.	Row Next To 1543 N. Patrick Henry Dr.	J	30	7	Months	\$ 8.00	\$	56.00
	Lump Sum Total for 30 day Cycle s						\$	6,167.00	

81	Cherrydale Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L		3	Months	\$ 900.00	\$ 2,700.00
196	Central Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L	-	3	Months	\$ 1,900.00	\$ 5,700.00
201	Walter Reed/Westover Library	Leaf Collection- Oct. 30, Nov. 30, Dec. 15	L		3	Months	\$ 900.00	\$ 2,700.00
	Lump Sum Total for Leaf Collection						\$ 11,100.00	

Total For Northwest Mowing and Related Services

\$ 456,458.40

Contract Unit Prices	
1. Mowing per Acre , Athletic Field-Bermuda Grass-Reel Mow	\$ 98.00
2. Mowing per Acre , Athletic Field-Cool Season	\$ 88.00
3. Mowing Per Acre	\$ 78.00
4. Grass Clipping Removal Per Acre	\$ 150.00
5. Fertilization per Acre	\$ 300.00
6. Weed Control per Acre	\$ 300.00
7. Overseeding per Acre	\$ 600.00
8. Leaf Removal per Acre	\$ 500.00
9. Mechanical Edging per linear Foot	\$ 0.25

PRICING SHEET - NORTHEAST

1		1					_			
Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Pri	lce per Week or Month	А	nnual Mowing Price
262	Dorothy Hamm School 4100 N Vacation Ln- (HB Woodlawn)	Athletic Field - Rectangle - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$	350.00	\$	7,700.00
	, , ,	Athletic Field - Rectangle - Bermuda Grass -	Р					55		717
264	Oak Grove Park	Irrigation - Reel Mower		AF	22	Weeks	\$	200.00	\$	4,400.00
265	Quincy Park - 1021 N. Quincy St	Athletic Field #1, 2 and Aux - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Weeks	\$	1,000.00	\$	22,000.00
		Athletic Field #3 - Diamond - Bermuda	Р						_	
267	Quincy Park - 1021 N. Quincy St	Grass - Irrigation - Reel Mower		AF	22	Weeks	\$	320.00	\$	7,040.00
	Washington Liberty High School	Athletic Field - Combo Diamond - Bermuda Grass - Irrigation - Reel Mower	Р	AF	22	Made				0
270		otal for Athletic Fields with Berm	ud:			Weeks	\$	375.00	\$	8,250.00
	Lonip 30m iv	otal for Atmetic Fields with Bern	iouc	a Gi c	155				⊅	49,390.00
		Athletic Field - Rectangle - Cool Season			I					
263	Key Elementary School	Grass - Irrigation	Р	AF	31	Weeks	\$	90.00	\$	2,790.00
	Stratford Park - 4321 Old Dominion	Athletic Field - Diamond - Cool Season	Р							
269	Dr.	Grass - Irrigation		AF	31	Weeks	\$	100.00	\$	3,100.00
	Lump Sum Total Fo	r Athletic Fields Cool Season Gra	ss V	Vith	Irrigati	ion			\$	5,890.00
_		T			I		1			
260	Dawson Terrace Center - Taft St & 21St St	Athletic Field - Rectangle - Cool Season Grass - No Irrigation	Р	AF	31	Weeks	\$	75.00	\$	2,325.00
200	31	Athletic Field - Combo - Diamond - Cool		A	31	WCCKS	1	/5.00	*	2,323.00
261	Long Branch School/Fillmore Park	Season Grass - No Irrigation	Р	AF	31	Weeks	\$	73.00	\$	2,263.00
		Athletic Field #1 - Combo Diamond - Cool	Р							
271	Taylor Elementary School	Season Grass - No Irrigation Athletic Field #2 - Combo Diamond - Cool		AF	31	Weeks	\$	75.00	\$	2,325.00
272	Taylor Elementary School	Season Grass - No Irrigation	Р	AF	31	Weeks	\$	75.00	\$	2,325.00
,	Woodmont Center - N Of 24Th St On	Athletic Field - Rectangle - Cool Season	Р					73		13 3
273	Filmore	Grass - No Irrigation	Р	AF	31	Weeks	\$	40.00	\$	1,240.00
	Fort Ethan Allen/Madison Comm.	Athletic Field - Rectangle - Cool Season	Р		24	Weeks				
274	Center - 3829 N. Stafford St	Grass - No Irrigation		AF	31		\$	120.00	\$	2 720 00
	Luman Cuma Tatal Fa	" Athletic Fields Cool Coocs Cus					*			3,720.00
	•	r Athletic Fields Cool Season Gra		No	Irrigati	on	' I		\$	14,198.00
1	40Th & Upland St	Row Easement	U	No 7-14	Irrigati 23	on Weeks	\$	8.00	\$	14,198.00 184.00
	40Th & Upland St 41St Street & Upland St.	Row Easement Street Island		No	Irrigati	on	' I		\$	14,198.00
1	40Th & Upland St	Row Easement	U	No 7-14	Irrigati 23	on Weeks	\$	8.00	\$	14,198.00 184.00 138.00
1 2	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of	Row Easement Street Island All Areas: Woods Edge & Steps, Fence	U	No 7-14 7-14	23 23	Weeks Weeks	\$	8.00 6.00	\$ \$	14,198.00 184.00
1 2	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance	U U P	7-14 7-14 7-14	23 23 23	Weeks Weeks Weeks	\$ \$	8.00 6.00 110.00	\$ \$ \$	14,198.00 184.00 138.00 2,530.00
1 2 8	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way	U U P	7-14 7-14 7-14 7-14	23 23 23 23	Weeks Weeks Weeks	\$ \$ \$	8.00 6.00 110.00	\$ \$ \$	14,198.00 184.00 138.00 2,530.00
1 2 8	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas	U U P P	7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23	Weeks Weeks Weeks Weeks Weeks	\$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00	\$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00
1 2 8	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign	U U P	7-14 7-14 7-14 7-14	23 23 23 23	Weeks Weeks Weeks	\$ \$ \$	8.00 6.00 110.00	\$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00
1 2 8	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas	U U P P P U	7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23	Weeks Weeks Weeks Weeks Weeks	\$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00	\$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00
1 2 8 9 12 13	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement	U U P P P U	7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23	Weeks Weeks Weeks Weeks Weeks Weeks Weeks	\$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00	\$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00
1 2 8 9 12 13 15	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of	U U P P U U U U U U U U U U U U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23	Weeks Weeks Weeks Weeks Weeks Weeks Weeks Weeks Weeks	\$ \$ \$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00 12.00	\$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 276.00
1 2 8 9 12 13 15 19 22	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street	U U P P U P U P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23	Weeks	\$ \$ \$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00 12.00	\$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00
1 2 8 9 12 13 15 19	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas	U U P P U U P U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23	Weeks	\$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00 12.00 125.00	\$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00
1 2 8 9 12 13 15 19 22	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street	U U P P U P U P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23	Weeks	\$ \$ \$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00 12.00	\$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00
1 2 8 9 12 13 15 19 22 23 25	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St	U U P P U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 150.00 35.00 8.00 12.00 125.00 125.00	\$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 276.00
1 2 8 9 12 13 15 19 22 23 25 26	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St	U U P P U U U U P P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23	Weeks	\$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 1200 8.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,876.00 184.00
1 2 8 9 12 13 15 19 22 23 25 26	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area	U U P P U U U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 1200 8.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,876.00 184.00 345.00 184.00
1 2 8 9 12 13 15 19 22 23 25 26	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35 Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area	U U P P U U U P P U P P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,875.00 345.00 184.00 184.00 1,725.00
1 2 8 9 12 13 15 19 22 23 25 26	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area	U U P P U U U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 1200 8.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,876.00 184.00 345.00 184.00
1 2 8 9 12 13 15 19 22 23 25 26	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35 Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area	U U P P U U U P P U P P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,875.00 345.00 184.00 184.00 1,725.00
1 2 8 9 12 13 15 19 22 23 25 26 27 28 30 33	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35 Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area Triangular Island At Intersection Area Along Military Rd. 2547 N. Vernon St To 2501 N Upton St	U U P P U U D P P U D P P U D P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00 5.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,875.00 184.00 14,725.00 1,725.00 1,725.00
1 2 8 9 12 13 15 19 22 23 25 26 27 28 30 33	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St Vermont Bike Trail - At N. Vernon St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area Triangular Island At Intersection Area Along Military Rd. 2547 N. Vernon St To 2501 N Upton St 60'X 15'	U U P P U U P P U U U U U U U U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00 5.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 276.00 184.00 345.00 184.00 1,725.00 115.00
1 2 8 9 12 13 15 19 22 23 25 26 27 28 30 33 35	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St Vermont Bike Trail - At N. Vernon St Taylor Elementary School - 2600 N.	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area Triangular Island At Intersection Area Along Military Rd. 2547 N. Vernon St To 2501 N Upton St 60'X 15' All Areas Except Inside Building Sidewalks	U U P P U U D P P U D P P U D P	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00 5.00 8.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 2,875.00 184.00 1,725.00 1,725.00 184.00
1 2 8 9 12 13 15 19 22 23 25 26 27 28 30 33	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center - 3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St Vermont Bike Trail - At N. Vernon St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area Triangular Island At Intersection Area Along Military Rd. 2547 N. Vernon St To 2501 N Upton St 60'X 15'	U U P P U U U P P U C P P C S	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00 5.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 138.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 276.00 184.00 345.00 184.00 1,725.00 1,725.00
1 2 8 9 12 13 15 19 22 23 25 26 27 28 30 33 35 38	40Th & Upland St 41St Street & Upland St. Glebe Park - Old Glebe Rd East Of Tazwell St Fort Ethan Allen/Madison Comm. Center - 3829 N. Stafford St Holmberg Park - 38Th & N. Upland St. Old Glebe Rd @ Glebe Rd Gulf Branch Nature Center -3608 N. Military Rd 38Th St. & N. Wakefield St. Broyhill Forest Park - 3510 N. Utah St. 36Th St - 3632 To 3837 At Military Rd 33Rd St - Thomas St To Randolph St 36Th & Glebe Rd Donaldson Run Park - 4020 N. 30Th St. Stafford St - Dead End East Of 31 St Marcey Rd Park 2700 Marcy Road Rockspring Rd. @ Wakefield St. Taylor Park 5000 Military Rd @ 30th St Vermont Bike Trail - At N. Vernon St Taylor Elementary School - 2600 N. Stuart St	Row Easement Street Island All Areas: Woods Edge & Steps, Fence Lines Playground All Areas: Playground, Woods Edge, Fence Areas Mechanical Edging along entrance way All Areas Center Island With Stop Sign Mow Along Entrance Drive, Around Base Of Building And Parking Lot Utility Strip And Easement North Of 35Th St On Utah Both Sides Of Street Open Areas N 4107 To N 4133 33Rd St Island Along 30Th From Military Rd To Pollard St Island Area Located Inside Regional Park Area Triangular Island At Intersection Area Along Military Rd. 2547 N. Vernon St To 2501 N Upton St 60'X 15' All Areas Except Inside Building Sidewalks And Parking Lots	P P U U U U P P U U U U U U U U U U U U	7-14 7-14 7-14 7-14 7-14 7-14 7-14 7-14	23 23 23 23 23 23 23 23 23 23 23 23 23 2	Weeks	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	8.00 6.00 110.00 35.00 8.00 12.00 125.00 125.00 125.00 8.00 75.00 8.00 75.00	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	14,198.00 184.00 184.00 2,530.00 3,450.00 805.00 184.00 276.00 2,875.00 2,875.00 276.00 184.00 1,725.00 1,725.00 184.00 4,600.00

Bidder's Name:	

PRICING SHEET - NORTHEAST

Location	t of Parks and Recreation				Estimated	Weeks or	Price per Week or		
ID	Location	Description	Type	Freq.	Quantity	Months	Month	An	nual Mowing Price
	Leaf Dump Lot 26Th St @ Yorktown		١						
46	Blvd	Open Area East Side Of Leaf Dump Site	U P	7-14	23	Weeks	\$ 40.00	\$	920.00
48	Utah St & Taylor St. Park 24Th St @ Old Dominion Dr - 4655 To	Fenced In Area And Adj. Areas	Р	7-14	23	Weeks	\$ 26.00	\$	598.00
55	4711	Row Easement From 4655 To 4711	U	7-14	23	Weeks	\$ 18.00	\$	414.00
6o	Military Road & 25Th Rd N - 2 areas	Corners Of Intersection & Medians	U	7-14	23	Weeks	\$ 5.00	\$	115.00
61	Ridgeview Rd North Of Nellie Custis	Cul-De-Sac Island At Dead End	U	7-14	23	Weeks	\$ 5.00	\$	115.00
62	Windy Run Park - Nellie Custis Drive	Mow To End Of Kenmore St	Р	7-14	23	Weeks	\$ 150.00	\$	3,450.00
		All Areas: Surrounding Fields, Fence							
	Woodmont Center - N Of 24Th St On	Areas, Playground, Driveways.							
63	Filmore	Mechanical edging along entrance way	S	7-14	23	Weeks	\$ 10.00	\$	230.00
66	Fort Smith Dark 2411 24Th St North	Street Row, House Grounds, Fort Area,	Р	7-14	23	Weeks	<i>*</i> 260.00	_	5.090.00
00	Fort Smith Park - 2411 24Th St North	Open Spaces All Areas: Playground, Woods Edge, Fence	Р	7-14	23	vveeks	\$ 260.00	\$	5,980.00
	Dawson Terrace Center - Taft St & 21St	Areas Mechanical Edging along entrance							
67	St Turist & 21st	way	Р	7-14	23	Weeks	\$ 110.00	\$	2,530.00
,	Lee Highway - Albemarle St To	6 Islands & Old Dominion Intersection							755
74	Wakefield St	Area	J	7-14	23	Weeks	\$ 12.00	\$	276.00
	Stratford Park - 4321 Old Dominion								
76	Dr.	All Areas	Р	7-14	23	Weeks	\$ 23.00	\$	529.00
	Dorothy Hamm School 4100 N	All Areas Except Inside Building Sidewalks							
78	Vacation Ln-Frmly HB Woodlawn	And Parking Lots	S	7-14	23	Weeks	\$ 65.00	\$	1,495.00
	Woodstock Park - 2000 Block Of	All August 20Th Del C MArte details Ct	_	7 4 4	22	M/li-			
79	Woodstock	All Areas 20Th Rd & Woodstock St Sidewalk Island & Lot Behind Sidewalk On	Р	7-14	23	Weeks	\$ 55.00	\$	1,265.00
80	21St St. & N. Stafford St.	21St @2045 Stafford St.	U	7-14	23	Weeks	\$ 8.00	\$	184.00
00	Cherrydale Library - N. Military Rd @	All Areas: Building Perimeter, Hillside,	U	7-14	23	VVCCKS	3 0.00	₽	104.00
81	22Nd St	Mechanical edging along entrance way	L	7-14	23	Weeks	\$ 23.00	\$	529.00
	22.14.00	Enter From Behind 7/11 West Of Pollard	_	,		1100.0	+ 25.00	_	529.00
82	Cherrydale Park 2100 N. Quincy St.	On Old Dominion	Р	7-14	23	Weeks	\$ 42.00	\$	966.00
	Thrifton Hill Park - 23Rd & N.	All Areas: Rear Woods Edge & Steps, Fence					•		-
86	Edgewood St	Lines Playground	Р	7-14	23	Weeks	\$ 165.00	\$	3,795.00
87	Maywood Mini Park - 3210 N 22Nd St	All Areas	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
	Quincy Street - 20Th Rd To Lee								
94	Highway	All Islands And U-Strips	U	7-14	23	Weeks	\$ 12.00	\$	276.00
95	Lee Highway & N. Quincy St	3 Islands Mowing At Ls Areas	U	7-14	23	Weeks	\$ 5.00	\$	115.00
98	Lee Highway - Lincoln St To Monroe	Islands In 3500 Block	U	7-14	23	Weeks	\$ 22.00	\$	506.00
100	Spout Run Pkway - Lee Highway To I-66 Overpass	Islands	U	7-14	23	Weeks	\$ 5.00		115.00
100	Lee Highway - Spout Run Pkway To	Isianus	U	7-14	23	VV CCKS	\$ 5.00	\$	115.00
101	Lincoln St	Islands	U	7-14	23	Weeks	\$ 30.00	\$	690.00
101		Access Also From Nelson & 17th (Area has		,		11 00.13	\$ 50.00	_	030.00
105	Cherry Valley Park - 1700 Quincy St.	expanded since Tax Map)	Р	7-14	23	Weeks	\$ 530.00	\$	12,190.00
		All Areas: Steps, Fence Lines, Playground,							
109	Lyon Village Park - 1800 Highland St	U-Strips	Р	7-14	23	Weeks	\$ 80.00	\$	1,840.00
113	18Th St. & Cleveland St.	Traffic Island	U	7-14	23	Weeks	\$ 5.00	\$	115.00
	Nelly Custis Drive - Military Rd To								_
114	Lorcum L.	All Islands	U	7-14	23	Weeks	\$ 12.00	\$	276.00
44.5	Oakgrovo Bark 1500 N Owings St	Area Surrounding Field, Fence Edges,	D	711	22	Wools	# 24= 2=	_	
115	Oakgrove Park - 1500 N. Quincy St	Embankment, Perimeter Areas	Р	7-14	23	Weeks	\$ 215.00	\$	4,945.00
116	Vacant Lot 1601 N. Quincy St	Open Lot Across Quincy St From Oakgrove Park	Р	7-14	23	Weeks	\$ 12.00	\$	276.00
110	Hayes Park - 1400 Lincoln St At 15Th	All Areas Including Row Easement Along	Ė	, 14		** CCR3	4 12.00	*	2/0.00
122	St 1400 Emedinat At 1311	15Th St	Р	7-14	23	Weeks	\$ 160.00	\$	3,680.00
	Arlington Science Focus School - 1500	All Areas Except Inside Building							<u> </u>
123	N. Lincoln St.	Sidewalks, Parking Lots	S	7-14	23	Weeks	\$ 80.00	\$	1,840.00
124	James Hunter Park (1230 N Hartford)	Grass areas and utility strips	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
125	Herndon St 1401	Utility Strip In Front Of House	U	7-14	23	Weeks	\$ 4.00	\$	92.00
126	17Th St. & N. Hartford St	Island	U	7-14	23	Weeks	\$ 4.00	\$	92.00
127	Key Blvd & Highland St	7 Corner Areas	U	7-14	23	Weeks	\$ 4.00	\$	92.00
128	Edgewood St & N. Franklin St	Island	U	7-14	23	Weeks	\$ 4.00	\$	92.00
129	Danville & Franklin St	Four Islands @ Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
	Clarendon Blvd - Adam St To Danville	V	.,	, , ,					•
130	St	Vacant Lot, U-Strips And Right Of Ways	J	7-14	23	Weeks	\$ 22.00	\$	506.00

Bidder's Name:	

PRICING SHEET - NORTHEAST

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Annual Mowin	ng Price
	Mccoy Park - N Vetch St & North 20Th		_						_
132	St	All Areas Except The Drainage Basin	P	7-14	23	Weeks	\$ 34.00		782.00
137	Key Blvd. Garden Plots	Open Area On 19Th St. Side	P P	7-14 7-14	23 23	Weeks	\$ 4.00	\$	92.00
138	Lee Highway - Nash St To Lynn St Gateway Park - 1300 Lee Highway	Islands Adjacent To Gateway Park All Grass Panels	P	7-14	23	Weeks Weeks	\$ 20.00 \$ 90.00		460.00
140	Potomac Tower Park 1955 N. Lynn St	Adj. To Parkway Entrance Ramp	P	7-14	23	Weeks	\$ 90.00 \$ 12.00		.070.00 276.00
141	Child Care Center -1915 N. Uhle St @	Building Perimeter, Parking Lot, Inside	г	7-14	23	VVEEKS	\$ 12.00	3	2/0.00
143	Lee Hwy	And Outside Fenced Areas	Р	7-14	23	Weeks	\$ 4.00	\$	92.00
-43	200,	All Areas And Adj. Street Islands,		,		TTCCRS	4.00	*	92.00
145	Fire Station #10 - 1559 Wilson Blvd	Mechanical edging along entrance way	F	7-14	23	Weeks	\$ 8.00	\$	184.00
-45	Wilson Center - Wilson Blvd & N.	All Areas: Sports Field, Playground, U-		,		TTCCRS	* 0.00	*	204.00
146	Quinn St	Strips, Fence Areas	Р	7-14	23	Weeks	\$ 118.00	\$ 2,	,714.00
147	Argus House - 1527 Clarendon Blvd.	Small Picnic Area At Rear Of Building	D	7-14	23	Weeks	\$ 5.00	\$	115.00
		Lot At Beginning Of Ramp Buildings On 3							
149	Kent St Vacant Lot - South Of 19Th St	Sides	Р	7-14	23	Weeks	\$ 7.00	\$	161.00
150	Kent & 19Th Street	Triangle Island	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
151	Wilson Blvd - Lynn St To Ridge Road	Island	Р	7-14	23	Weeks	\$ 6.00	\$	138.00
		All Areas Except Inside Building Sidewalks							
153	Key School - 2300 Key Blvd	And Parking Lots	S	7-14	23	Weeks	\$ 18.00	\$	414.00
154	Key Boulevard - At N. Bryan St		U	7-14	23	Weeks	\$ 5.00	\$	115.00
155	Rhodes & Clarendon Blvd.	Street Islands	U	7-14	23	Weeks	\$ 12.00	\$	276.00
157	Fairfax Drive House 1727 E. Of Pierce St	Mow Front And Rear Area And Perimeters	D	7-14	23	Weeks	\$ 9.00	\$	207.00
		All Areas Including Perimeters To All	_						
158	Hillside Park - 1601 N. Pierce Street	Streets	Р	7-14	23	Weeks	\$ 25.00	\$	575.00
	Dark Star Park - Ft Myer Dr @ Fairfax	Lelen d Arres Milde Delle	_	7 4 4	22	\A/I	.0	_	
161	Drive	Island Areas With Balls	P	7-14	23	Weeks	\$ 18.00 \$ 22.00		414.00
162	Meade St. Park - 1550 N. Meade St. Clarendon Park - Wilson Blvd &	Sw Corner Island At Rt.50 To Service Rd.	Р	7-14	23	Weeks	\$ 22.00	\$	506.00
163	Highland St	All Turf Areas	Р	7-14	23	Weeks	\$ 25.00	\$	F7F 00
164	Rt. 50 East Entryway	Islands	U	7-14	23	Weeks	\$ 5.00	\$	575.00 115.00
104	Courthouse Building - 15Th St &	All Areas: Around Building, Utility Strips		7-14	23	VVCCK3	\$ 5.00	J.	115.00
169	Courthouse Rd	& Interior Courtyard	О	7-14	23	Weeks	\$ 25.00	\$	575.00
J	Ft Myer Heights Park - 1400 N Ft Myer		_				-5	-	3/ 3
172	Dr	South Of Rt. 50 Adj. To Apts.	Р	7-14	23	Weeks	\$ 35.00	\$	805.00
175	Meade St South @ S 14Th St	Island Adj. To Iwo Jima Memorial	U	7-14	23	Weeks	\$ 5.00	\$	115.00
	Clarenford Station Park - 1300 N.	From G. Mason Drive Behind Motel To							
176	Vermont St.	Playground At Vermont St	Р	7-14	23	Weeks	\$ 130.00	\$ 2,	990.00
	Fairfax Drive - Wilson Blvd. To Glebe								
178	Rd.	All Islands	U	7-14	23	Weeks	\$ 20.00	\$	460.00
179	Wilson Blvd & Fairfax Drive	Mowing At Ls Maintenance Areas	U	7-14	23	Weeks	\$ 6.00	\$	138.00
180	Glebe Rd & Fairfax Drive	10 Street Islands	U	7-14	23	Weeks	\$ 18.00	\$	414.00
		All Areas Except Inside Building Sidewalks							
181	W & L High School - 1300 N. Quincy St	And Parking Lots	S	7-14	23	Weeks	\$ 320.00	\$ 7,	360.00
_	Aps Education Center-1426 N. Quincy	Outside Perimeter Of Parking Lot & 15	_						
183	St.	St. Utility Strip	S	7-14	23	Weeks	\$ 50.00	\$ 1,	,150.00
.06	Kinlanda Q On an Anna	Washington Blvd To Lee Hwy. All Public	١	7 4 4	22	\A/I			0
186	Kirkwood Rd - Islands & Open Areas	Open Spaces Both Sides	U	7-14	23	Weeks	\$ 196.00		508.00
187	13Th Street -Jackson To Harrtford St	Row Easements	U	7-14	23	Weeks	\$ 16.00		368.00
191	Fairfax Drive - Danville To Barton St	Row Easements Both Sides	U	7-14	23	Weeks	\$ 16.00	\$	368.00
102	Utility Strip In Front Of 1222 N. Cleveland St	Row Easement	U	7-14	23	Weeks	\$ 5.00	¢	115.00
192	Cleverand St	Utility Strip & Area Surrounded By Brick	0	7-14	23	VVEEKS	\$ 5.00	\$	115.00
193	Clarendon Blvd. @ Danville St.	Paver Walkway	U	7-14	23	Weeks	\$ 5.00	\$	115.00
-33	E.E. S. G. S. G. Bullyme St.	Open Lot Along 11Th St. From Danville To	Ť	. 17		ccks	ý 5.00	-	
194	11Th & Danville St. Park	Fillmore St.	Р	7-14	23	Weeks	\$ 50.00	\$ 1,	,150.00
<i>→</i> T		All Areas, Parking Lots, U-Strips, Adjacent					50		
		to Tennis Courts, Mechanical Edging							
196	Central Library - 1015 N. Quincy St.	along entrance way	L	7-14	23	Weeks	\$ 45.00	\$ 1,	,035.00
		All areas Surrounding Fields, Playground,						,	
197	Quincy Park - 1021 N. Quincy St	Tennis Courts, Picnic Area, U-Strips	Р	7-14	23	Weeks	\$ 200.00	\$ 4,	600.00
198	Washington Blvd & N Quincy St	Islands	U	7-14	23	Weeks	\$ 6.00		138.00
					ı ———		\$ 6.00		

PRICING SHEET - NORTHEAST

203 Clar 204 10Ti Hers 205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	e Station #4 - 3121 N. 10Th St. arendon House - 3141 N. 10Th St. Th St - Wilson Blvd To Rt. 50 rselle Milliken Park 820 N. Lincoln aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St	All Areas And Adj. Street Islands, Mechanical edging along entrance way All Areas And Adj. Street Islands Medians/Ultility Islands Wilson Blvd To Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All Areas All areas including adjacent utility strips Street Island	F DES	7-14 7-14 7-14 7-14	23 23 23 23	Weeks Weeks Weeks Weeks	\$ 6.00 \$ 12.00 \$ 96.00	\$ \$	138.00 276.00 2,208.00 460.00
203 Clar 204 10Ti Hers 205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	e Station #4 - 3121 N. 10Th St. arendon House - 3141 N. 10Th St. Th St - Wilson Blvd To Rt. 50 rselle Milliken Park 820 N. Lincoln aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	Mechanical edging along entrance way All Areas And Adj. Street Islands Medians/Ultility Islands Wilson Blvd To Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	U P P P	7-14 7-14 7-14 7-14	23	Weeks	\$ 12.00 \$ 96.00	\$	2,208.00
203 Clar 204 10Ti Hers 205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	arendon House - 3141 N. 10Th St. Th St - Wilson Blvd To Rt. 50 rselle Milliken Park 820 N. Lincoln aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	All Areas And Adj. Street Islands Medians/Ultility Islands Wilson Blvd To Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	U P P	7-14 7-14 7-14	23	Weeks	\$ 12.00 \$ 96.00	\$	2,208.00
205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	Th St - Wilson Blvd To Rt. 50 rselle Milliken Park 820 N. Lincoln aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	P P	7-14 7-14	23		_		·
205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	Th St - Wilson Blvd To Rt. 50 rselle Milliken Park 820 N. Lincoln aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	Wash Blvd & East & West Ramp Of Rt. 50 All Areas Between House And Store Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	P P	7-14 7-14	23		_		·
205 St. 206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	Building All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	P P	7-14		Weeks	\$ 20.00	\$	460.00
206 Mau 207 Oakl 208 Clay 209 Mos 213 7Th 214 6Th 217 4Th 218 Rocl 221 10Ti	aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	All Areas: Curbs, Sculpture Garden, Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	P P	7-14		Weeks	\$ 20.00	\$	460.00
207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	aury Art Center - 3550 N. Wilson Blvd kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	Playground, Fence Edges All Areas All Areas All areas including adjacent utility strips	Р				1		
207 Oakl 208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	kland Park 3701 Wilson Blvd. ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	All Areas All Areas All areas including adjacent utility strips	Р		72	Weeks	\$ 75.00	\$	1 72 5 0 0
208 Clay 209 Mos 213 7Th. 214 6Th 217 4Th 218 Rocl 221 10Ti	ay Park - 3011 N. 7Th St osaic Park - 544 N Pollard st h. Street - Nelson St To Oakland St h St & Monroe St	All Areas All areas including adjacent utility strips	Р	7-14	23 23	Weeks	\$ 75.00 \$ 50.00	\$	1,725.00 1,150.00
213 7Th. 214 6Th 217 4Th 218 Rock 221 10Th	h. Street - Nelson St To Oakland St h St & Monroe St			7-14	23	Weeks	\$ 75.00	\$	1,725.00
214 6Th 217 4Th 218 Rocl 221 10Tl	h St & Monroe St	Street Island	Р	7-14	23	Weeks	\$ 25.00	\$	575.00
217 4Th 218 Rocl 221 10Tl		Street Island	U	7-14	23	Weeks	\$ 8.00	\$	184.00
218 Rock	h St & Fillmore St 300 Blk Of Filmore	Street Island	U	7-14	23	Weeks	\$ 4.00	\$	92.00
218 Rock			U	7-14	23	Weeks	\$ 4.00	\$	92.00
221 10T		All Areas	Р	7-14	23	Weeks	\$ 150.00	\$	3,450.00
Was	·	Between Gardens & Street And Adj. Areas	Р	7-14	23	Weeks	\$ 40.00	\$	920.00
	ashington Blvd - Highland St To Rt.								
223 50		All Island And Utility Some Utility Strips	U	7-14	23	Weeks	\$ 120.00	\$	2,760.00
Oaki 224 St	kland Street Mini Park 122 S Oakland	South Of N 2Nd St And Oakland St Intersection	Р	7-14	23	Weeks	\$ 5.00	\$	115.00
		Washington Blvd. North To Fillmore St.	P	7-14	23	Weeks	\$ 110.00	\$	2,530.00
		All Areas Except Inside Building Sidewalks							755
226 Lon	ng Branch School - 33 N. Fillmore St	And Parking Lots	S	7-14	23	Weeks	\$ 50.00	\$	1,150.00
228 N.B	Barton & Bryan St.	Median At Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
330 N P	Randolph Street	Utility Strips Between N Glebe Rd And Wilson Blvd.	U	7-14	23	Weeks	\$ 4.00	•	02.00
229 N. R	•	Median At The Intersection Of N. 16Th &		7-14	23	VV CCK3	\$ 4.00	\$	92.00
230 N. 1	16Th Street & Custis Rd.	Custis Rd.	U	7-14	23	Weeks	\$ 4.00	\$	92.00
231 Gleb	ebe & Randolph Park		р	7-14	23	Weeks	\$ 58.00	\$	1,334.00
		Utility Strips Both Sides Of Street	U						
		Between I-66 & N. 17Th St. Parcel Of Land At Rt.50 & Fairfax Drive	U	7-14 7-14	23 23	Weeks Weeks	\$ 4.00 \$ 25.00	\$	92.00
		Utility Strip From N. Queen To Rolfe St.	U	7-14	23	Weeks	\$ 25.00 \$ 4.00	\$	575.00 92.00
254 5		Median At N. Farifax Dr. & Washington	U	,		11 00.13	4.55	-	
235 Peto	tco-N. Fairfax Dr.	Blvd.	U	7-14	23	Weeks	\$ 6.00	\$	138.00
		Utility Strip Between N. 11Th & 12Th St.	U						
5,	Barton St.	(West Side Of St.)	P	7-14 7-14	23 23	Weeks	\$ 4.00	\$	92.00
238 N. Ja	Jackson St. & Rt. 50	Area Surrounding Foot Bridge All Areas, Parking Lots, U-Strips, Adjacent	г	7-14	23	Weeks	\$ 4.00	\$	92.00
		Park Area, Mechanical Edging along	F						
239 Fire	e Station #3-4100 Old Dominion Dr	entrance way		7-14	23	Weeks	\$ 6.00	\$	138.00
240 N. W	Woodstock & 20Th Rd. N	Median At Intersection	U	7-14	23	Weeks	\$ 4.00	\$	92.00
241 Vaca	cation Lane & 25Th St N.	Row At Corner Of Vacation & 25Th St N	U	7-14	23	Weeks	\$ 4.00	\$	92.00
242 Pers	rshing Drive	Median From Rt. 50 To N. Barton St.	U	7-14	23	Weeks	\$ 4.00	\$	92.00
244 Johr	hnson St N- 1504	Both Sides Of Sidewalk Adjacent To 1504	U	7-14	23	Weeks	\$ 8.00	\$	184.00
245 N Oa	Oak St	Utility Strips Between Wilson & 16Th Rd N	U	7-14	23	Weeks	\$ 4.00	\$	92.00
			DES				·		
246 The		All Areas & Ivy Perimeter Of All Buildings	DLS	7-14	23	Weeks	\$ 125.00	\$	2,875.00
247 Wils	ilson Blvd- Ballston	3 Medians & Utility Strips From Glebe to just past Stuart St.	U	7-14	23	Weeks	\$ 3.00	\$	69.00
	17 N Garfield St	Utility Strips Around Perimeter Of House	U	7-14	23	Weeks	\$ 3.00	\$	69.00
	berts Lane & N Lincoln St	Utility Strip From Lincoln To Monroe St	U	7-14	23	Weeks	\$ 3.00	\$	69.00
	arendon Blvd & Veitch St	Median In Fron Of 2100 Clarendon Blvd.	U	7-14	23	Weeks	\$ 3.00	\$	69.00
275 Don	naldson Run - 2929 Military Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$	3,040.00
	·		DES						
276 Dov	ver Run - 2801 N Quebec St.	Lift Station		14	16	Weeks	\$ 190.00	\$	3,040.00
277 Gulf	lf Run - 3611 Military Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$	3,040.00
278 Kirk	kwood Rd - 1616 Kirkwood Rd	Lift Station	DES	14	16	Weeks	\$ 190.00	\$	3,040.00
279 Win	indy Run - 2500 N. Kenmore	Lift Station	DES	14	16	Weeks	\$ 190.00	\$	3,040.00

Bidder's Name:	

PRICING SHEET - NORTHEAST

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ar	nual Mowing Price
280	Riverwood - 2770 N Nelson St	Lift Station	DES	14	16	Weeks	\$ 135.00	\$	2,160.00
281	Marcey Creek - 2685 N Marcey Rd	Lift Station	DES	14	16	Weeks	\$ 135.00	\$	2,160.00
282	River Estates - 3533 36th Rd N	Lift Station	DES	14	16	Weeks	\$ 135.00	\$	2,160.00
283	River Crest - 3560 36th Rd N	Lift Station	DES	14	16	Weeks	\$ 135.00	\$	2,160.00
284	Palasades - 2141 Scott ST	Lift Station	DES	14	16	Weeks	\$ 165.00	\$	2,640.00
Lump Sum Total For 7- 14 day Cycle \$							165,009.00		

3 Randolph St 23Rd St To Lorcom Lane Row easement U 30 7 Months 5 5.00 5 35.00							1			
A 15.F - Glebe Rd To Dead End Both Sove easements Also Under Parkway U 30 7 Months s 3,00 s 2,00 s 415. Street - Off Richmond St At Dead End Of 4151. St U 30 7 Months s 3,00 s 2,100 S 415. Street - Off Richmond St At Dead End Of 4151. St East Row easement U 30 7 Months s 4,00 s 28.00 Noncest S 555 To 3671 Vacant Lot U 30 7 Months s 4,00 s 28.00 Montre St - 3655 To 3671 Vacant Lot U 30 7 Months s 4,00 s 28.00 Montre St - 3655 To 3671 Vacant Lot U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Glebe Road South Right Of Way Easement U 30 7 Months s 4,00 s 28.00 Montre St - 4764 To Ditmar South Right Of Way Easement U 30 7 Months s 3,00 s 21.00 Montre St - 4618 @ Wakefield St South Right Of Way Easement U 30 7 Months s 3,00 s 21.00 Montre St - 4618 @ Wakefield St South Right Of Way Easement U 30 7 Months s 3,00 s 21.00 Montre St - 4618 @ Wakefield St South Right Of Way Easement U 30 7 Months s 3,00 s 21.00 Montre St - 4618 @ Wakefield St South Right Of Way Easement U 30 7 Months s 3,00 s 21.00 Montre St - 4618 @ Wakefield St Montre St - 4618						_				
Sides	3	'	Row easement	U	30	7	Months	\$ 5.00	\$	35.00
Section Sect			Day casamants Alsa Under Daylovay	١	20	7	Months			
Richmond St - Old Glebe Rd To 415t St East Row easement			·							
Ft Ethan Allen Park - 4311 Old Glebe Rd House Grounds Adj. To Glebe Park P 30 7 Months \$ 4,00 \$ 28,00	5	41St Street - Oli Richmond St	At Dead End Of 41St St	U	30		IVIOTITIS	\$ 3.00	\$	21.00
Tell Ethan Allen Park - 4311 Old Glebe Rd House Grounds Adj. To Glebe Park P 30 7 Months \$ 4,00 \$ 28,00	6	Richmond St - Old Glebe Rd To 41St St	East Row easement	U	30	7	Months	\$ 4.00	\$	28.00
Montroe St 3655 to 3671										
Dittmar St - 4746 To Glebe Road South Right Of Way easement U 30 7 Months 5 4,00 5 28,00 6 Military Rd - 3730 To 37Th St Right Of Way Easement U 30 7 Months 5 4,00 5 28,00 1 28,00	7	Ft Ethan Allen Park - 4311 Old Glebe Rd	House Grounds Adj. To Glebe Park	Р	30	7	Months	\$ 4.00	\$	28.00
37Th St To End Of Randolph St Right Of Way Easement Both Sides U 30 7 Months 5 4,00 5 28.00	10	Monroe St - 3655 To 3671	Vacant Lot	U	30	7	Months	\$ 3.00	\$	21.00
16 Military Rd - 3730 To 37Th St Row Easement U 30 7 Months 5 7.00 5 49.00	11	Dittmar St - 4746 To Glebe Road	South Right Of Way easement	U	30	7	Months	\$ 4.00	\$	28.00
Roberts Lane	14	37Th St To End Of Randolph St	Right Of Way Easement Both Sides	U	30	7	Months	\$ 4.00	\$	28.00
17 Remmore St - 3445 Location	16	Military Rd - 3730 To 37Th St	Row Easement	U	30	7	Months	\$ 7.00	\$	49.00
18 Roberts Lane - 3525 To 3469 East And North Of Monroe St U 30 7 Months s 3.00 s 21.00			Bank Across From And In Front Of							
Vermont St - House At 3725 To Ditmar St U-Strip U 30 7 Months S 3.00 \$ 21.00	17		Location	U	30	7	Months	\$ 4.00	\$	28.00
20 St	18	Roberts Lane - 3525 To 3469	East And North Of Monroe St	U	30	7	Months	\$ 3.00	\$	21.00
Dittmar St - 4618 @ Wakefield St South Right Of Way Easement U 30 7 Months s 3.00 s 21.00										
24 36Th St. & Woodstock St 3600 Block Row Easement U 30 7 Months 5 3.00 5 21.00	20		•		_				\$	21.00
29 315t St Military Rd To Quincy St	21	Dittmar St - 4618 @ Wakefield St	<u> </u>	_	_	7	Months	\$ 3.00	\$	21.00
Deadend N. Quebec St. Off N. Randolph Utility Strip & 4' Back Of Walkway From 2827 To 2810	24	36Th St. & Woodstock St 3600 Block	Row Easement				Months	\$ 3.00	\$	21.00
31 St. 2827To 2810	29			U	30	7	Months	\$ 3.00	\$	21.00
32 32Nd St & Abingdon St		·	, ,							
Military Rd - 2707 To Beachwood Across From Taylor Park U 30 7 Months S 3.00 S 21.00	31							,	\$	21.00
Military Rd - 2707 To Beachwood Across From Taylor Park U 30 7 Months s 16.00 s 112.00 s 12.00 s 26Th Street - 4514 To 4555 North Right Of Way Easement U 30 7 Months s 16.00 s 56.00 s 39 Utah St - Vacation Lane To Deadend Row Easement U 30 7 Months s 11.00 s 77.00 s 39 Utah St - Vacation Lane To Deadend Row Easement U 30 7 Months s 11.00 s 77.00 s 37.00 s 37	32	-							\$	147.00
36 Circle Across From Taylor Park U 30 7 Months 5 16.00 5 112.00 37 26Th Street - 4514 To 4555 North Right Of Way Easement U 30 7 Months 5 8.00 5 56.00 39 Utah St - Vacation Lane To Deadend Row Easement U 30 7 Months 5 11.00 5 77.00 43 26Th Street - 4624 To 4712 Glebe & 26Th St U 30 7 Months 5 11.00 5 77.00 43 26Th Street - 4624 To 4712 Glebe & 26Th St U 30 7 Months 5 11.00 5 119.00 44 Old Dominion Drive - 25Th St To 26Th Right Of Way Easement Both Sides U 30 7 Months 5 6.00 5 42.00 26Th Street Bike Trail-Yorktown Blvd To 47 Vermont St Row Easement St U 30 7 Months 5 6.00 5 280.00 49 Utah St - 2420 To Taylor St Row Easement St U 30 7 Months 5 3.00 5 21.00 50 25Th St - Richmond St To Vacant Lot Large Open Areas U 30 7 Months 5 3.00 5 21.00 51 Richmond St - 2306 To Deadend Both Sides Row Easements U 30 7 Months 5 3.00 5 21.00 52 25Th Rd & Old Dominion Sw Corner Lot U 30 7 Months 5 3.00 5 21.00 53 Old Dominion Drive Northwest Corner Lot U 30 7 Months 5 3.00 5 21.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months 5 3.00 5 21.00 55 Randolph St - 2756 To 2736 Row Easement U 30 7 Months 5 3.00 5 21.00 56 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months 5 5.00 5 35.00 59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months 5 5.00 5 35.00 64 24Th St & Fillmore St. Richmore St. Row Easement U 30 7 Months 5 5.00 5 35.00 70 Scott St - 2115t Rd To Dead End West Row Easement U 30 7 Months 5 5.00 5 35.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months 5 5.00 5 35.00 72 Rolfe St - 2126 To Dead End West Row Eas	34	'	East Side	U	30	7	Months	\$ 3.00	\$	21.00
37 26Th Street - 4514 To 4555 North Right Of Way Easement U 30 7 Months \$ 8.00 \$ 56.00 39 Utah St - Vacation Lane To Deadend Row Easement U 30 7 Months \$ 11.00 \$ 77.00 43 26Th Street - 4624 To 4712 Glebe & 26Th St U 30 7 Months \$ 11.00 \$ 77.00 \$ 119.00 \$ 1		,								
39 Utah St - Vacation Lane To Deadend	36		,	_	1					
43 26Th Street - 4624 To 4712 Glebe & 26Th St	37				1				_	
Old Dominion Drive - 25Th St To 26Th St Right Of Way Easement Both Sides U 30 7 Months \$ 6.00 \$ 42.00	39			_						77.00
45 St	43		Glebe & 26Th St	U	30	7	Months	\$ 17.00	\$	119.00
26Th Street Bike Trail-Yorktown Blvd To Vermont St				١		_				
47 Vermont St 6 Ft Back On Each Side Of Trail P 30 7 Months \$ 40.00 \$ 280.00 49 Utah St - 2420 To Taylor St Row Easements U 30 7 Months \$ 3.00 \$ 21.00 50 25Th St - Richmond St To Vacant Lot Large Open Areas U 30 7 Months \$ 16.00 \$ 112.00 51 Richmond St - 2306 To Deadend Both Sides Row Easements U 30 7 Months \$ 4.00 \$ 28.00 52 25Th Rd & Old Dominion Sw Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 53 Old Dominion Dr 25Th To 26Th St Vacant Lot East Side Adj. To Salt Tank U 30 7 Months \$ 24.00 \$ 168.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 28.00 \$ 36.00	45		Right Of Way Easement Both Sides	U	30	/	Months	\$ 6.00	\$	42.00
49 Utah St - 2420 To Taylor St Row Easements U 30 7 Months \$ 3.00 \$ 21.00 50 25Th St - Richmond St To Vacant Lot Large Open Areas U 30 7 Months \$ 16.00 \$ 112.00 51 Richmond St - 2306 To Deadend Both Sides Row Easements U 30 7 Months \$ 4.00 \$ 28.00 52 25Th Rd & Old Dominion Sw Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 53 Old Dominion Dr 25Th To 26Th St Vacant Lot East Side Adj. To Salt Tank U 30 7 Months \$ 24.00 \$ 168.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 35.00			C Ft Dealt On Feel Cide Of Tueil	_	20	7	N 4 = + l= =			-0
50 25Th St - Richmond St To Vacant Lot Large Open Areas U 30 7 Months \$ 16.00 \$ 112.00										
51 Richmond St - 2306 To Deadend Both Sides Row Easements U 30 7 Months \$ 4.00 \$ 28.00 52 25Th Rd & Old Dominion Sw Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 53 Old Dominion Dr 25Th To 26Th St Vacant Lot East Side Adj. To Salt Tank U 30 7 Months \$ 24.00 \$ 168.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 28.00 <td></td> <td>'</td> <td></td> <td>_</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>		'		_						
52 25Th Rd & Old Dominion Sw Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 53 Old Dominion Dr 25Th To 26Th St Vacant Lot East Side Adj. To Salt Tank U 30 7 Months \$ 24.00 \$ 168.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months \$ 5.00 \$ 35.00			<u> </u>	_						
53 Old Dominion Dr 25Th To 26Th St Vacant Lot East Side Adj. To Salt Tank U 30 7 Months \$ 24.00 \$ 168.00 54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 <td></td> <td></td> <td></td> <td>_</td> <td>1</td> <td></td> <td></td> <td>· · · · · ·</td> <td>_</td> <td></td>				_	1			· · · · · ·	_	
54 23Rd St - At Old Dominion Drive Northwest Corner Lot U 30 7 Months \$ 3.00 \$ 21.00 56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 Triangular Corner Plot in 2300 Blk. 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U- Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End West Row Easement U 30 7 Months <t< td=""><td></td><td></td><td></td><td>_</td><td>1</td><td></td><td></td><td></td><td></td><td></td></t<>				_	1					
56 Randolph St - 2756 To 2736 Row Easement U 30 7 Months \$ 3.00 \$ 21.00 57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U- Strips U 30 7 Months \$ 5.00 \$ 35.00 Roadside From Drive On 24Th To Drive On Edgewood St 2440 To 24Th St Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 4.00 \$ 28.00			,							
Triangular Corner Plot in 2300 Blk. 57 Vacation Lane & Taylor St.				_						
57 Vacation Lane & Taylor St. Vacation Ln U 30 7 Months \$ 28.00 \$ 196.00 58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00	50	Nandorphi 3t - 2730 10 2730		0	30		WIOTICITS	\$ 3.00	₽	21.00
58 Randolph St - 4101 To 4020 Both Sides Row Easements U 30 7 Months \$ 5.00 \$ 35.00 59 25 Th St House At 4006 To Military Rd U- Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24 Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24 Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00	E7	Vacation Lane & Taylor St		ш	30	7	Months	\$ 28.00	¢	106.00
59 25Th St House At 4006 To Military Rd U-Strips U 30 7 Months \$ 5.00 \$ 35.00 64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00										
64 24Th St & Fillmore St. Roadside From Drive On 24Th To Drive On 24Th To Drive On 24Th St & Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00		'								
64 24Th St & Fillmore St. Fillmore St. U 30 7 Months \$ 5.00 \$ 35.00 65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00	23	25 St. Trouse / te 4000 To Military Nu	,	Ť	50	,	1410/11113	÷ 5.00	-	33.00
65 Edgewood St 2440 To 24Th St North Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00	64	24Th St & Fillmore St.		U	30	7	Months	\$ 5.00	\$	35.00
70 Scott St - 21St Rd To Dead End U 30 7 Months \$ 4.00 \$ 28.00 71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00										
71 Rolfe St - 2126 To Dead End West Row Easement U 30 7 Months \$ 3.00 \$ 21.00		•	5 ,							
,			West Row Easement					•		
Also Behind Barrier East Right Of Way								5 - 5		
72 Oak St - 22Nd St To Lee Highway	72	Oak St - 22Nd St To Lee Highway		U	30	7	Months	\$ 5.00	\$	35.00
73 23Rd St & Albemarle St		23Rd St & Albemarle St	Across From 4716 N Ablemarle St	U	30	7	Months		\$	

Bidder's Name:	

PRICING SHEET - NORTHEAST

Remore St. @ 2340 Rd New Side Utility Strip U 30 7 Months S 300 S 21.00	Departmen	t of Parks and Recreation							
175		Location	Description	Туре	Freq.				Annual Mowing Price
272 Strafford Park Hillidde Steep Bank Around Upper Field P 30 7 Months 5 3,00 8 22,00	75	Upton St. @ Old Dominion Dr.	·	U	30	7	Months	\$ 3.00	\$ 21.00
200 Follower's Part Power Box Area Next To 2114 Pollard St. U 20 7 Months 5 3,00 5 22,00		•							
84			' '	_					15
88				_				J	
Remmore St. @ 2.28 ft de New Side Utility Arrip	04	Neison street - 21st to 22Nd street	Might Of Way Aleas	0	30	,	IVIOTICITS	\$ 3.00	\$ 21.00
Billimore St. 344 7 0 342 (@ Lorcom Most Right Of Way Eakement U 30 7 Months 3 00 \$ 2 200	85	Quincy St @ 2244 To Quebec St @ 4016	Right Of Way Areas	U	30	7	Months	\$ 6.00	\$ 42.00
Bay Lane West Right Of Way Taxement	88	Kenmore St @ 23Rd Rd	Nw Side Utility Strip	U	30	7	Months	\$ 3.00	\$ 21.00
90 Fillmore S. B. Custiss ST o Custis Trail Thrifton Hill Fordpath 0 30 7 Months 2 9,00 8 5,00		Fillmore St - 3442 To 2342 (@ Lorcom							
General Communication Selection To Signis Science Cut To Pieway U 30 7 Months 5 8.00 5 5.0	89	Lane)	West Right Of Way Easement	U	30	7	Months	\$ 3.00	\$ 21.00
Sw Corner Lorcom Lane At Edgewood Roadway Nub To Include Area Behind 1,9 3 7 Months 5 5,00 3 35,00 32,00	90	Filmore St & Custis St To Custis Trail	Thrifton Hill Footpath	U	30	7	Months	\$ 9.00	\$ 63.00
32 St.	91	Lorcom Lane - Edgewood To Parkway	N Side Cut To Sign, S Side Cut To Pkway	U	30	7	Months	\$ 8.00	\$ 56.00
32 Irving St. And 22Nd St. Ser.		Sw Corner Lorcom Lane At Edgewood	Roadway Nub To Include Area Behind						
193 1 m/ng St And 22 Md St. Sac	92	St.	Leyland Cypress Trees	U	30	7	Months	\$ 5.00	\$ 35.00
20Th Rd - 3219 To Johnson St			To Dead End At Old Dominion & Cul-De-						
Semmore St 2121 To Lee Highway Both Sides U 30 7 Months s 3,00 s 2,100	93	Irving St And 22Nd St.	Sac		30	7	Months	\$ 6.00	\$ 42.00
Hanard St & 20Th St U Strip To 3121 Harvard St U 30 7	96	20Th Rd - 3219 To Johnson St	U-Strips Both Sides	U	30	7	Months	\$ 16.00	\$ 112.00
102 Bryam St - 18Th St To Lee Highway 8oth Siddes U 30 7 Months S 3,00 S 3,500	97	Kenmore St - 2121 To Lee Highway	Both Sides	U	30	7	Months	\$ 12.00	\$ 84.00
103 Calvert St 1995 To Lee Hwy Soth Sides To Dead End East U-Strip U 30 7 Months S 3,00 S 21,00	99	Harvard St & 20Th St	U-Strip To 3121 Harvard St	U	30	7	Months	\$ 3.00	\$ 21.00
100	102	Bryan St - 18Th St To Lee Highway	Both Sides	U	30	7	Months	\$ 5.00	\$ 35.00
Alley Behind 1702 - 1710 Nelson St. To	103	Calvert St - 1995 To Lee Hwy	Both Sides To Dead End East U-Strip	U	30	7	Months	\$ 3.00	\$ 21.00
Alley Behind 1702 - 1710 Nelson St. To	104	Lee Highway-Cleveland To Calvert St	Service Rd Island	U	30	7	Months	\$ 23.00	\$ 161.00
126 18Th St. 3400 Block 18Th St. 30 7 Months 5 3.00 5 28.00		0 1, 11 11 11 11 11 11							
137 181h St, - 3400 Block Right Of Way North Side U 30 7 Months S 4,00 \$ 28,00 \$ 63,00 \$ 10hnson St - 1909 To 187h St South Right Of Way Essement U 30 7 Months S 9,00 \$ 63,00 \$ 63,00 \$ 63,00 \$ 1700 Blk. Adams St. Alley 181h St U 30 7 Months S 8,00 S 63,00 \$ 63,00 \$ 63,00 \$ 1700 Blk. Adams St. Alley 181h St U 30 7 Months S 8,00 S 66,00 \$ 63,00 \$ 111 1700 Blk. Barton St. Alley 181h St U 30 7 Months S 8,00 S 66,00 \$ 63,00 \$ 12100 \$ 1	106	Nelson St. Alley	-	U	30	7	Months	\$ 3.00	\$ 21.00
108 Johnson St 1909 To 18Th St	107	'	Right Of Way North Side	U	30	7	Months		
110 1700 Blk. Adams St. Alley	-	·							
1700 Blk. Adams St. Alley			-					,	
1700 Blk. Barton St. Alley 18Th St	110	1700 Blk. Adams St. Alley		U	30	7	Months	\$ 8.00	\$ 56.00
Alley Behind Houses Between Edgewood 12 30 7 Months 5 6.00 5 42.00		,	Alley Behind Houses Between Key Blvd &						J
Highland St. Alley 1800 Blk. St. & Danville St. U 30 7 Months 5 6.00 5 42.00	111	1700 Blk. Barton St. Alley	18Th St	U	30	7	Months	\$ 8.00	\$ 56.00
177			Alley Behind Houses Between Edgewood						
137 17Th St. @ Pollard St. 17Th St. U 30 7 Months \$ 3.00 \$ 21.00 119 15Th St - Quincy St To Taylor St South U-Strips All Areas Adj. To I-66 U 30 7 Months \$ 14.00 \$ 98.00 120 Nw Corner Stafford St. & 15Th St. 15Th St. And Stafford St. U 30 7 Months \$ 14.00 \$ 98.00 121 Nw Corner Stafford St. & 15Th St. 15Th St. And Stafford St. U 30 7 Months \$ 7.00 \$ 49.00 131 Cleveland St. Utility Strip West Side Of Street Between Clarendon & Wilson Blvd. U 30 7 Months \$ 3.00 \$ 21.00 132 Cleveland St. Utility Strip Wilson Blvd. U 30 7 Months \$ 3.00 \$ 22.00 133 21St St - Courthouse Rd To Vietch St U-Strips Both Sides U 30 7 Months \$ 3.00 \$ 20.00 134 Quinn St - 21St Rd To 21 St Right Of Ways And Island U 30 7 Months \$ 4.00 \$ 28.00 136 Quinn St - Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months \$ 23.00 \$ 5.00 142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months \$ 3.00 \$ 5.00 142 Vietch St. @ Lee Highway East Right Of Way Easement U 30 7 Months \$ 3.00 \$ 5.00 144 Vietch St. @ Lee Highway Sides U 30 7 Months \$ 3.00 \$ 5.00 144 Vietch St.	112	Highland St. Alley 1800 Blk.	St. & Danville St.	U	30	7	Months	\$ 6.00	\$ 42.00
15Th St - Quincy St To Taylor St South U-Strips All Areas Adj. To I-66 U 30 7 Months \$ 14.00 \$ 98.00			Utility Strip From 3811 To Deadend Of						
Nw Corner Stafford St. & 15Th St. 15Th St. 15Th St. 15Th St. And Stafford St. U 30 7 Months \$ 7,00 \$ 49,00 \$ 15Th Street - Quincy St To Rear Home Lot	117	17Th St. @ Pollard St.	17Th St.	U	30	7	Months	\$ 3.00	\$ 21.00
120 Nw Corner Stafford St. & 15Th St. 15Th Street 2 U incy St To Rear Home Lot U 30 7 Months 5 7.00 5 63.00	119	15Th St - Quincy St To Taylor St	South U-Strips All Areas Adj. To I-66	U	30	7	Months	\$ 14.00	\$ 98.00
15Th Street - Quincy St To Rear Home Lot Cut Steep Bank U 30 7 Months s 9.00 s 63.00			Nw Corner Lot Between House #4207						
121 Lot	120	Nw Corner Stafford St. & 15Th St.	15Th St. And Stafford St.	U	30	7	Months	\$ 7.00	\$ 49.00
131 Cleveland St. Utility Strip West Side Of Street Between Clarendon & Wilson Blvd. U 30 7 Months S 3.00 \$ 21.00 132 21St St Courthouse Rd To Vietch St. U-Strips Both Sides U 30 7 Months S 4.00 \$ 28.00 133 20Th St. & N. Troy St Right Of Ways And Island U 30 7 Months S 63.00 \$ 441.00 135 20Th St. & N. Troy St Along North Side Of Lee Highway U 30 7 Months S 63.00 \$ 441.00 136 Quinn St Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months S 23.00 S 161.00 142 Nash St 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months S 5.00 S 35.00 144 Vietch St. @ Lee Highway Sides U-Strips From Lee Highway To I-66 Both Sides U 30 7 Months S 3.00 S 21.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months S 3.00 S 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months S 3.00 S 21.00 159 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months S 3.00 S 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months S 3.00 S 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months S 3.00 S 24.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months S 3.00 S 24.00 171 15Th St. & Scott St Corner Vacant Lot U 30 7 Months S 3.00 S 24.00 173 Quinn St 1230 To 1240 And Quinn St Olymer Of Roldes Of Rt. So, West Of Queen And Quinn St Olymer Of Rt. So, West Of Queen And Quinn St Olymer Of Rt. So, Onthe So 3.00 S 3.00 170 Rolfe Street - 1307 To 1240 And Quinn St Olymer Of Rt. So, Onthe So 3.00 S 3.00 174 Olymer St 1230 To 1240 And Quinn St Olymer Of Rt. So, Onthe So 3.00 S 3.00 175 Olymer St 1230 To 1240 And Quinn St Olymer Of Rt. So, Onthe So 3.00 S 3.00 170 Rolfe Street - 1307 To 1240 And Quinn St Olymer Of Rt. So, Onthe So 3.00 S 3.00 S 3.00		15Th Street - Quincy St To Rear Home							
131 Cleveland St. Utility Strip Wilson Blvd. U 30 7 Months s 3.00 s 21.00 133 215t St - Courthouse Rd To Vietch St U-Strips Both Sides U 30 7 Months s 4.00 s 28.00 134 Quinn St - 215t Rd To 215t Right Of Ways And Island U 30 7 Months s 10.00 s 70.00 135 20Th St & N. Troy St Along North Side Of Lee Highway U 30 7 Months s 63.00 s 441.00 136 Quinn St - Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months s 23.00 s 161.00 142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months s 5.00 s 35.00 143 Vietch St. @ Lee Highway Sides U Sides U 30 7 Months s 3.00 s 21.00 143 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months s 3.00 s 21.00 144 Vietch St. @ Lee Highway Sides U Sides U 30 7 Months s 3.00 s 21.00 145 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months s 3.00 s 21.00 150 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months s 3.00 s 21.00 150 16Th St 1701 To Quinn St U Strip North Side U 30 7 Months s 3.00 s 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. Dr. U 30 7 Months s 3.00 s 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months s 49.00 s 343.00 167 14Th St. & Scott St Corner Vacant Lot U 30 7 Months s 3.00 s 21.00 173 Quinn St - 1230 To 1240 And Quinn St U 30 7 Months s 3.00 s 21.00 174 Both Sides Of Rt. 50 And Sw Corner Of U 30 7 Months s 3.00 s 21.00 175 Quinn St - 1230 To 1240 And Quinn St U 30 7 Months s 3.00 s 21.00 174 Corner Vacant Lot U 30 7 Months s 3.00 s 21.00 175 Quinn St - 1230 To 1240 And Quinn St U 30 7 Months s 3.00 s 21.00 176 15Th St & Scott St Corn	121	Lot		U	30	7	Months	\$ 9.00	\$ 63.00
133 21St St - Courthouse Rd To Vietch St U-Strips Both Sides U-Strips Both Side Of Lee Highway U-Strips From Lee Highway To I-66 Both U-Strips From Lee Highway U-Strips From Lee Highway To I-66 Both U-Strips From Lee Highw									
134 Quinn St - 21St Rd To 21 St Right Of Ways And Island U 30 7 Months \$ 10.00 \$ 70.00 135 20Th St & N. Troy St Along North Side Of Lee Highway U 30 7 Months \$ 63.00 \$ 441.00 136 Quinn St - Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months \$ 23.00 \$ 161.00 142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 144 Vietch St. @ Lee Highway Sides U - Strips From Lee Highway To I-66 Both U 30 7 Months \$ 11.00 \$ 77.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7	131							_	
135 20Th St & N. Troy St Along North Side Of Lee Highway U 30 7 Months \$ 63.00 \$ 441.00 136 Quinn St - Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months \$ 23.00 \$ 161.00 142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months \$ 23.00 \$ 35.00 144 Vietch St. @ Lee Highway Sides U Strips From Lee Highway To I-66 Both Sides U 30 7 Months \$ 3.00 \$ 77.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St - 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 161 14Th St. & Adams St. Lot	133		'						
136 Quinn St - Key Blvd To Lee Highway East Right Of Way Easement U 30 7 Months \$ 23.00 \$ 161.00 142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 144 Vietch St. @ Lee Highway Sides U 30 7 Months \$ 11.00 \$ 77.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 15t Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U Strip North Side U 30	134		,						,
142 Nash St - 20Th St To Key Blvd West Right Of Way Easement U 30 7 Months \$ 5.00 \$ 35.00 144 Vietch St. @ Lee Highway Sides U 30 7 Months \$ 11.00 \$ 77.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St - 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 <t< td=""><td></td><td>'</td><td></td><td></td><td></td><td></td><td></td><td></td><td>' '</td></t<>		'							' '
U-Strips From Lee Highway To I-66 Both Sides U 30 7 Months 11.00 \$ 77.00	136		· · · · · · · · · · · · · · · · · · ·					_	
144 Vietch St. @ Lee Highway Sides U 30 7 Months \$ 11.00 \$ 77.00 148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 Roadside From Rhodes St To & Down U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 3.00 \$ 28.00 <td>142</td> <td>Nash St - 20Th St To Key Blvd</td> <td>· · · · · · · · · · · · · · · · · · ·</td> <td>U</td> <td>30</td> <td>7</td> <td>Months</td> <td>\$ 5.00</td> <td>\$ 35.00</td>	142	Nash St - 20Th St To Key Blvd	· · · · · · · · · · · · · · · · · · ·	U	30	7	Months	\$ 5.00	\$ 35.00
148 Key Blvd - Oak St To Ode St. West Side U-Strip U 30 7 Months \$ 3.00 \$ 21.00 152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St - 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 Parking Meter Area South Side Of Fairfax Dr. U 30 7 Months \$ 3.00 \$ 21.00 Se Corner Lot To Include Walkway On U 30 7 Months \$ 3.00 \$ 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen D 30 7 Months \$ 3.00 \$ 21.00 173 Quinn St - 1230 To 1240 And Quinn St U 30 7 Months \$ 3.00 \$ 21.00			, , ,						
152 17Th Street Row @ Lynn St. Hillside & Island Both Sides Of Overpass U 30 7 Months \$ 3.00 \$ 21.00 Roadside From Rhodes St To & Down Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 156 16Th St. & Quinn St. Quinn St Dr U 30 7 Months \$ 3.00 \$ 21.00 Parking Meter Area South Side Of Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 Se Corner Lot To Include Walkway On 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 157 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen And Quinn St 1230 To 1240 And Quinn St 50 And Sw Corner Of									· · · · · · · · · · · · · · · · · · ·
Roadside From Rhodes St To & Down U 30 7 Months \$ 3.00 \$ 21.00	148	·	·						\$ 21.00
156 16Th St. & Quinn St. Quinn St To 1St Dr U 30 7 Months \$ 3.00 \$ 21.00 159 16Th St - 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen Dustrip South Of Rt. 50, West Of Queen Dustrip South Of Rt. 50 And Sw Corner Of	152	17Th Street Row @ Lynn St.	Hillside & Island Both Sides Of Overpass	U	30	7	Months	\$ 3.00	\$ 21.00
159 16Th St - 1701 To Quinn St U Strip North Side U 30 7 Months \$ 3.00 \$ 21.00 Parking Meter Area South Side Of Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 Se Corner Lot To Include Walkway On 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 167 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen And Quinn St U 30 7 Months \$ 3.00 \$ 21.00 Both Sides Of Rt. 50 And Sw Corner Of									
Parking Meter Area South Side Of Fairfax U 30 7 Months \$ 3.00 \$ 21.00									
160 Fairfax Dr. @ Ft. Myer Dr. Dr. U 30 7 Months \$ 3.00 \$ 21.00 167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen U 30 7 Months \$ 3.00 \$ 21.00 Both Sides Of Rt. 50 And Sw Corner Of U 30 7 Months \$ 3.00 \$ 21.00	159	16Th St - 1701 To Quinn St		U	30	7	Months	\$ 3.00	\$ 21.00
Se Corner Lot To Include Walkway On 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00	_					_			
167 14Th St. & Adams St. Lot 14Th Street P 30 7 Months \$ 49.00 \$ 343.00 170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen And Quinn St U 30 7 Months \$ 3.00 \$ 21.00 Both Sides Of Rt. 50 And Sw Corner Of Both Sides Of Rt. 50 And Sw Corner Of Corner Vacant Lot Co	160	нагтах Dr. @ Ft. Myer Dr.		U	30	/	Months	\$ 3.00	\$ 21.00
170 Rolfe Street - 1307 To 1321 East Side Right Of Way Easement U 30 7 Months \$ 4.00 \$ 28.00 171 15Th St & Scott St Corner Vacant Lot U 30 7 Months \$ 3.00 \$ 21.00 U-Strip South Of Rt. 50, West Of Queen And Quinn St U 30 7 Months \$ 3.00 \$ 21.00 Both Sides Of Rt. 50 And Sw Corner Of U 30 7 Months \$ 3.00 \$ 21.00	_	AATL CL O AL- CL L	•	_	~~	_	N.4		
171 15Th St & Scott St									3.3
U-Strip South Of Rt. 50, West Of Queen And Quinn St - 1230 To 1240 Both Sides Of Rt. 50 And Sw Corner Of Both Sides Of Rt. 50 And Sw Corner Of			·						
173 Quinn St - 1230 To 1240 And Quinn St U 30 7 Months \$ 3.00 \$ 21.00 Both Sides Of Rt. 50 And Sw Corner Of U 30 7 Months \$ 3.00 \$ 21.00	171	15 in St & Scott St		U	30	/	Months	\$ 3.00	\$ 21.00
Both Sides Of Rt. 50 And Sw Corner Of		Outing St. 1220 T- 1240	•	.,	3.0	7	Mend		
	173	Quinn St - 1230 10 1240		U	30	/	ivionths	\$ 3.00	\$ 21.00
1/4	4	Dhodos 9, 14Th Ct. Dridge Abuston and			20	7	Month-		
	1/4	Innodes & 14 III St. Bridge Abutments	Queens st	U	30		IVIOTIENS	⇒ 5.00] → 35.00

PRICING SHEET - NORTHEAST

05/10/21

Location ID	Location	Description	Туре	Freq.	Estimated Quantity	Weeks or Months	Price per Week or Month	Ann	ual Mowing Price
	W&L High School-Under Stadium								
182	Bleachers	Also Outside Stafford Street Fence	S	30	7	Months	\$ 56.00	\$	392.00
		Utility Strip On Lincoln Next To House At							
185	Lincoln St. @ 12Th Rd.	3444 12Th Rd.	U	30	7	Months	\$ 3.00	\$	21.00
188	13Th Street - Johnson To Jackson St	Both Sides Row Easements	U	30	7	Months	\$ 4.00	\$	28.00
		100' Past 13Th St Both Sides Right Of							
189	Johnson St @ Washington Blvd	Way Easement	U	30	7	Months	\$ 3.00	\$	21.00
		Northside Of St From Danville St To							
195	11Th St Roadside	Danville St	J	30	7	Months	\$ 3.00	\$	21.00
200	Lincoln St - South Of Washington Blvd	West Side Utility Strip And Center Island	כ	30	7	Months	\$ 3.00	\$	21.00
201	Fairfax Dr. Alley	Alley Between 3440 & 3444 Fairfax Dr.	U	30	7	Months	\$ 3.00	\$	21.00
215	500 Block N. Irving St.	Utlity Strip On Nw Corner At 5Th St.	U	30	7	Months	\$ 3.00	\$	21.00
216	Highland St - 414 To Pershing Dr	West Right Of Way Easement	U	30	7	Months	\$ 3.00	\$	21.00
		Row At Parking Meters Across From Rocky							
219	Fairfax Dr Rt.50 To Barton St.	Run	U	30	7	Months	\$ 3.00	\$	21.00
	Fairfax Dr @ Rt 50-Rolf St To	Row Easements & Embankment @							
220	Courthouse Rd	Courthouse Rd	J	30	7	Months	\$ 21.00	\$	147.00
222	4Th St. Roadside	Roadside Adjacent To 400 Barton St.	U	30	7	Months	\$ 3.00	\$	21.00
-		Behind Houses On Wash Blvd. From Rt.							
227	Bedford St. Alley	50 To Brookside Dr.	U	30	7	Months	\$ 11.00	\$	77.00
236	N 17Th St3400 Blk Dead End	Fire Hydrant & Guardrail	U	30	7	Months	\$ 3.00	\$	21.00
Lump Sum Total For 30-day Cycle						\$	5,922.00		

There Are No Designated Leaf Removal/Collection Locations For This Quadrant

Total For Northeast Mowing and Related Services

\$ 240,409.00

Contract Unit Prices							
1. Mowing per Acre , Athletic Field-Bermuda Grass-Reel Mow	\$	98.00					
2. Mowing per Acre , Athletic Field-Cool Season	\$	88.00					
3. Mowing Per Acre	\$	78.00					
4. Grass Clipping Removal Per Acre	\$	150.00					
5. Fertilization per Acre	\$	300.00					
6. Weed Control per Acre	\$	300.00					
7. Overseeding per Acre	\$	600.00					
8. Leaf Removal per Acre	\$	500.00					
9. Mechanical Edging per linear Foot	\$	0.25					